ITY 0L YB-T it TAFLET-T

#E:HSSE FEWE:TICN

Tap material Surface treatment

7Ly hOBEBSOEMERUE

i T
IT-TF-T OYY B i
S U .
M T e A
- WO B 21l (um) 64
3C 3 :;
P 4
L 23
EEER J:é
FU EvF 2R BMEE| B 1EE AR 2R e FU EvF 2R BMEE| B EE AR 2R R lj-E
M1 x0.25x 50 1CO 1C 0 5 50 3 M1 x0.2 x 50 3C6 3C 6 5 50 3 ?yf’.
M1 x0.25x 50 1C1 1C 1 5 50 3 M1 x0.2 x 50 3C7 3C 7 5 50 3 7%
M1 x0.25x 50 1C2 1C 2 5 50 3 M1 x0.2 x 50 3C8 3C 8 5 50 3 -0
M1 x0.25x 50 1C3 18 3 5 50 3 M1 x0.2 x 50 PO P 0 5 50 3 s
M1 x0.25x 50 1C4 1C 4 5 50 3 M1 x0.2 x 50 P1 P 1 5 50 3 E >
M1 x0.25x 50 1C5 e 5 5 50 3 M1 x0.2 x 50 P2 P 2 5 50 3 I{E
M1 x0.25x 50 1C6 1C 6 5 50 3 M1 x0.2 x 50 P3 P 3 5 50 3 cd
M1 x0.25x 50 1C7 1C 7 5 50 3 M1 x0.2 x 50 P4 P 4 5 50 3
M1 x0.25x 50 1C8 1C 8 5 50 3 M1 x0.2 x 50 P5 P 5 5 50 3 =9
M1 x0.25x 50 BO B 0 5 50 3 M1 x0.2 x 50 P& P 6 5 50 3 Fi’%
M1 x0.25x 50 BI B 1 5 50 3 M1 x0.2 x 50 P7 P 7 5 50 3 o
M1 x0.25x 50 B2 B 2 5 50 3 M1 x0.2 x 50 P8 P 8 5 50 3 Eg
M1 x0.25x 50 B3 B 3 5 50 3 M1.1x0.25x 50 1CO 1C 0 5 50 3 £a
M1 x0.25x 50 B4 B 4 5 50 3 M1.1x0.25x 50 1C1 1C 1 5 50 3 §§
M1 x0.25x 50 B5 B 5 5 50 3 M1.1x0.25x 50 1C2 1C 2 5 50 3 xo
M1 x0.25x 50 B6 B 6 5 50 3 M1.1x0.25x 50 1C3 G 3 5 50 3 =
M1 x0.25x 50 B7 B 7 5 50 3 M1.1X0.25x 50 1C4 1C 4 5 50 3 e
M1 x0.25x 50 B8 B 8 5 50 3 M1.1x0.25x 50 1C5 1C 5 5 50 3 =
M1 x0.25x 50 3CO 3C 0 5 50 3 M1.1x0.25x 50 1C6 1C 6 5 50 3 ]
M1 x0.25x 50 3C1 3C 1 5 50 3 M1.1x0.25x 50 1C7 1C 7 5 50 3 _
M1 x0.25x 50 3C2 3C 2 5 50 3 M1.1x0.25x 50 1C8 1C 8 5 50 3 = [
M1 x0.25x 50 3C3 BE 3 5 50 3 M1.1x0.25x 50 BO B 0 5 50 3 =T
M1 x0.25x 50 3C4 3C 4 5 50 3 M1.1X0.25x 50 BI1 B 1 5 50 3 mY
M1 x0.25x 50 3C5 3C 5 5 50 3 M1.1x0.25x 50 B2 B 2 5 50 3 5
M1 x0.25x 50 3C6 3C 6 5 50 3 M1.1x0.25x 50 B3 B 3 5 50 3 L
M1 x0.25x 50 3C7 3C 7 5 50 3 M1.1x0.25x 50 B4 B 4 5 50 3 Y
M1 x0.25x 50 3C8 3C 8 5 50 3 M1.1x0.25x 50 BS B 5 5 50 3 ||‘
M1 x0.25x 50 PO P 0 5 50 3 M1.1x0.25x 50 B6 B 6 5 50 g T
M1 x0.25x 50 P1 P 1 5 50 3 M1.1x0.25x 50 B7 B 7 5 50 3
M1 x0.25x 50 P2 P 2 5 50 3 M1.1x0.25x 50 B8 B 8 5 50 3
M1 x0.25x 50 P3 P 3 5 50 3 M1.1x0.25x 50 3CO 3C 0 5 50 3
M1 x0.25x 50 P4 P 4 5 50 3 M1.1x0.25x 50 3C1 3C 1 5 50 3
M1 x0.25x 50 P5 P 5 5 50 3 M1.1x0.25x 50 3C2 3C 2 5 50 3
M1 x0.25x 50 P86 P 6 5 50 3 M1.1x0.25x 50 3C3 20 3 5 50 g
M1 x0.25x 50 P7 P 7 5 50 3 M1.1x0.25x 50 3C4 3C 4 5 50 3
M1 x0.25x 50 P8 P 8 5 50 3 M1.1x0.25x 50 3C5 3C 5 5 50 3
M1 x0.2 x 50 1CO 1C 0 5 50 3 M1.1x0.25x 50 3C6 3C 6 5 50 3
M1 x0.2 x 50 1C1 1C 1 5 50 3 M1.1x0.25x 50 3C7 3C 7 5 50 3
M1 x0.2 x 50 1C2 1C 2 5 50 3 M1.1x0.25x 50 3C8 3C 8 5 50 3
M1 x0.2 x 50 1C3 1C 3 5 50 3 M1.1x0.25x 50 PO P 0 5 50 3
M1 x0.2 x 50 1C4 e 4 5 50 3 M1.1X0.25x 50 P1 P 1 5 50 3
M1 x0.2 x 50 1C5 e 5 5 50 3 M1.1x0.25x 50 P2 P 2 5 50 3
M1 x0.2 x 50 1C6 1C 6 5 50 3 M1.1x0.25x 50 P3 P 3 5 50 3
M1 x0.2 x 50 1C7 1C 7 5 50 3 M1.1x0.25x 50 P4 P 4 5 50 3
M1 x0.2 x 50 1C8 1C 8 5 50 3 M1.1x0.25x 50 P5 P 5 5 50 3
M1 x0.2 x 50 BO B 0 5 50 3 M1.1x0.25x 50 P6 P 6 5 50 3
M1 x0.2 x 50 BI B 1 5 50 3 M1.1x0.25x 50 P7 P 7 5 50 3
M1 x0.2 x 50 B2 B 2 5 50 3 M1.1x0.25x 50 P8 P 8 5 50 3
M1 x0.2 x 50 B3 B 3 5 50 3 M1.1x0.2 x 50 1CO 1C 0 5 50 3
M1 x0.2 x 50 B4 B 4 5 50 3 M1.1x0.2 x 50 1C1 1C 1 5 50 3
M1 x0.2 x 50 B5 B 5 5 50 3 M1.1x0.2 x 50 1C2 1C 2 5 50 3
M1 x0.2 x 50 B6 B 6 5 50 5 M1.1X0.2 x 50 1C3 e 3 5 50 3
M1 x0.2 x 50 B7 B 7 5 50 3 M1.1x0.2 x 50 1C4 16 4 5 50 3
M1 x0.2 x 50 B8 B 8 5 50 3 M1.1x0.2 x 50 1C5 1C 5 5 50 3
M1 x0.2 x 50 3CO 3C 0 5 50 3 M1.1x0.2 x 50 1C6 1C 6 5 50 3
M1 x0.2 x 50 3C1 3C 1 5 50 3 M1.1x0.2 x 50 1C7 1C 7 5 50 3
M1 x0.2 x 50 3C2 3C 2 5 50 3 M1.1x0.2 x 50 1C8 1C 8 5 50 3
M1 x0.2 x 50 3C3 3C 3 5 50 3 M1.1X0.2 x 50 BO B 0 5 50 3
M1 x0.2 x 50 3C4 3C 4 5 50 3 M1.1x0.2 x 50 BI1 B 1 5 50 3
M1 x0.2 x 50 3C5 56 5 5 50 3 M1.1x0.2 x 50 B2 B 2 5 50 3




ITY L YB-T IT TAFLET-T ITY L YB-T it TAFLET-T

#E:HSSE FHEYUE :TiCN #8:HSSE REME:TICN

Tap material Surface treatment Tap material Surface treatment

YT v FOBEBESOEMRMIE
o~ g
IT-TE-T OVY — !
. 1c | 1w 7 8-
m——| 2 B | am & BU  EyF 28 BAME| B | BE | IR | 28 | BE BU  EyF 28 BAME| BF | BE | IR | 28 | BE
3c | 3W A M1.4x0.3 x 60 3C7 | 3C 7 7 60 3 M1.6x0.385x 60 3C1 | 3C 1 8 60 3
P au o M1.4x0.3 x 60 3C8 | 3C 8 7 60 3 M1.6x0.35x 60 3C2 | 3C 2 8 60 3
OB% - M1.4x0.3 x 60 3C9 | 3C | © 7 | 60 | 3 M1.6x0.35x 60 3C3 | 3C | 3 8 | 60 | 3 BX3
gJ: B M1.4x0.3 x 60 P1 P 1 7 60 3 M1.6x0.35x 60 3C4 | 3C 4 8 60 3 J:g
STF - T ,1 . | = - M1.4x0.3 x 60 P2 P 2 7 60 3 M1.6x0.35x 60 3C5 | 3C 5 8 60 3 P S
%g FU  EvF 2k BIRE| BfY 1A AR 2R e FU  EvF 2k BIREE| BfY BE A& 2R Az M1.4x0.3 x 60 P3 P 3 > 80 3 M1.6x0.35x 60 3C8 3c 6 8 0 3 g%
3y M1.1x0.2 x 50 B3 B 3 5 50 3 M1.2x0.2 x 50 1C0 | 1C 0 5 50 3 M1.4x0.3 x 60 P4 P 4 7 60 3 M1.6x0.385x 60 3C7 | 3C 7 8 60 3 i
%7 M1.1x0.2 x 50 B4 B 4 5 50 3 M1.2x0.2 x 50 1C1 1c 1 5 50 3 M1.4x0.3 x 60 P5 P 5 7 60 3 M1.6x0.35x 60 3C8 | 3C 8 8 60 3 7%
= M1.1x0.2 x 50 B5 B 5 5 50 3 M1.2x0.2 x 50 1C2 | 1C 2 5 50 3 M1.4x0.3 x 60 P6 P 6 7 60 3 M1.6x0.35x 60 3C9 | 3C 9 8 60 3 20
qg M1.1x0.2 x 50 B6 B 6 5 50 3 M1.2x0.2 x 50 1C3 | 1C 3 5 50 3 M1.4x0.3 x 60 P7 P 7 7 60 3 M1.6x0.35x 60 P1 P 1 8 60 3 gq
>0 M1.1x0.2 x 50 B7 B 7 5 50 3 M1.2x0.2 x 50 1C4 | 1C 4 5 50 3 M1.4x0.3 x 60 P8 P 8 7 60 3 M1.6x0.35x 60 P2 P 2 8 60 3 -
E ? M1.1x0.2 x 50 B8 B 8 5 50 3 M1.2x0.2 x 50 105 | 1C 5 5 50 3 M1.4x0.3 x 60 P9 P 9 7 60 3 M1.6x0.35x 60 P3 P 3 8 60 3 i‘{ﬁ
3L M1.1x0.2 x 50 3CO | 3C 0 5 50 3 M1.2x0.2 x 50 1C6 | 1C 6 5 50 3 M1.4x0.2 x 60 1C0 | 1C 0 7 60 3 M1.6x0.35x 60 P4 P 4 8 60 3 L3
M1.1x0.2 x 50 3C1 | 3C 1 5 50 3 M1.2x0.2 x 50 1C7 | 1C 7 5 50 3 M1.4x0.2 x 60 1C1 1c 1 7 60 3 M1.6x0.35x 60 P5 P 5 8 60 3
om M1.1x0.2 x 50 3c2 | 3C 2 5 50 3 M1.2x0.2 x 50 1C8 | 1C 8 5 50 3 M1.4x0.2 x 80 1C2 | 1C P 7 60 3 M1.6x0.35x 60 P6 P 6 8 60 3 =
g M1.1x0.2 x 50 3C3 | 3C 3 5 50 3 M1.2x0.2 x 50 BO B 0 5 50 3 M1.4x0.2 x 60 1C3 | 1C 3 7 60 3 M1.6x0.35x 60 P7 P 7 8 60 3 [=;
@Fﬁ M1.1x0.2 x 50 3C4 | 3C 4 5 50 3 M1.2x0.2 x 50 B1 B 1 5 50 3 M1.4x0.2 x 60 1C4 | 1C 4 7 60 3 M1.6x0.35x 60 P8 P 8 8 60 3 Fﬂ@
EE M1.1x0.2 x 50 305 | 3C 5 5 50 3 M1.2x0.2 x 50 B2 B 2 5 50 3 M1.4x0.2 x 60 1C5 | 1C 5 7 60 3 M1.6x0.35x 60 P9 P 9 8 60 3 Eg
S 1E M1.1x0.2 x 50 3C6 | 3C 6 5 50 3 M1.2x0.2 x 50 B3 B 3 5 50 3 M1.4x0.2 x 60 1C6 | 1C 6 7 60 3 M1.6x0.2 x 60 1C0 | 1C 0 8 60 3 fFa
S M1.1x0.2 x 50 3C7 | 3C 7 5 50 3 M1.2x0.2 x 50 B4 B 4 5 50 3 M1.4x0.2 x 80 1C7 | 1C 7 7 60 3 M1.6x0.2 x 60 1CI 1c 1 8 60 3 ES
%;E M1.1x0.2 x 50 3C8 | 3C 8 5 50 3 M1.2x0.2 x 50 B5 B 5 5 50 3 M1.4x0.2 x 60 1C8 | 1C 8 7 60 3 M1.6x0.2 x 60 1C2 | 1C 2 8 60 3 ﬁ%
o M1.1x0.2 x 50 PO P 0 5 50 3 M1.2x0.2 x 50 B6 B 6 5 50 3 M1.4x0.2 x 60 BO B 0 7 60 3 M1.6x0.2 x 60 1C3 | 1C 3 8 60 3 =
| M1.1x0.2 x 50 P1 P 1 5 50 3 M1.2x0.2 x 50 B7 B 7 5 50 3 M1.4x0.2 x 60 B1 B 1 7 60 3 M1.6x0.2 x 60 1C4 | 1C 4 8 60 3 3
e M1.1x0.2 x 50 P2 = 2 5 50 3 M1.2x0.2 x 50 B8 B 8 5 50 3 M1.4x0.2 x 60 B2 B 2 7 60 3 M1.6x0.2 x 60 1C5 | 1C 5 8 60 3 =
=) M1.1x0.2 x 50 P3 P 3 5 50 3 M1.2x0.2 x 50 3CO | 3C 0 5 50 3 M1.4x02 x 60 B3 B 3 7 60 3 M1.6x0.2 x 60 1C6 | 1C 6 8 60 3 =
B M1.1x0.2 x 50 P4 P 4 5 50 3 M1.2x0.2 x 50 3C1 | 3C 1 5 50 3 M1.4x0.2 x 60 B4 B a 7 60 3 M1.6x0.2 x 80 1C7 | 1C 7 8 60 3 5
| 3 M1.1x0.2 x 50 P5 = 5 5 50 3 M1.2x0.2 x 50 3c2 | 3C 2 5 50 3 M1.4x0.2 x 60 B5 B 5 7 60 3 M1.6x0.2 x 60 1C8 | 1C 8 8 60 3 = |
T= M1.1x0.2 x 50 P8 P 6 5 50 3 M1.2x0.2 x 50 3C3 | 3C 3 5 50 3 M1.4x0.2 x 60 BB B 6 7 60 3 M1.6x0.2 x 60 BO B 0 8 60 3 =T
Y h M1.1x0.2 x 50 P7 P 7 5 50 3 M1.2x0.2 x 50 3C4 | 3C 4 5 50 3 M1.4x0.2 x 60 B7 B 7 7 60 3 M1.6x0.2 x 60 BI B 1 8 60 3 .
73 M1.1x0.2 x 50 P8 = 8 5 50 3 M1.2x0.2 x 50 3C5 | 3C 5 5 50 3 M1.4x0.2 x 60 B8 B 8 7 60 3 M1.6x0.2 x 60 B2 B 2 8 60 3 07
L M1.2x0.25x 50 1C0 | 1C 0 5 50 3 M1.2x0.2 x 50 3C6 | 3C 6 5 50 3 M1.4x0.2 x 60 3CO | 3C 0 7 60 3 M1.6x0.2 x 60 B3 B 3 8 60 3 (%
Y M1.2x0.25x 50 1C1 1c 1 5 50 3 M1.2x0.2 x 50 3C7 | 3C 7 5 50 3 M1.4x0.2 x 60 3C1 | 3C 1 7 60 3 M1.6x0.2 x 60 B4 B a 8 60 3 b4
II‘ M1.2x0.25x 50 1C2 | 1C 2 5 50 3 M1.2x0.2 x 50 3C8 | 3C 8 5 50 3 M1.4x0.2 x 60 3C2 | 3C 2 7 60 3 M1.6x0.2 x 60 B5 B 5 8 60 3 ||‘
T M1.2x0.25x 50 1C3 | 1C 3 5 50 3 M1.2x0.2 x 50 PO P 0 5 50 3 M1.4x0.2 x 60 3C3 | 3C 3 7 60 3 M1.6x0.2 x 60 BB B 6 8 60 3 T
M1.2x0.285x 50 1C4 | 1C 4 5 50 3 M1.2x0.2 x 50 P1 P 1 5 50 3 M1.4x0.2 x 60 3C4 | 3C 4 7 60 3 M1.6x0.2 x 60 B7 B 7 8 60 3
M1.2x0.25x 50 1C5 | 1C 5 5 50 3 M1.2x0.2 x 50 P2 P 2 5 50 3 M1.4x0.2 x 60 3C5 | 3C 5 7 60 3 M1.6x0.2 x 60 B8 B 8 8 60 3
M1.2x0.25x 50 1C6 | 1C 6 5 50 3 M1.2x0.2 x 50 P3 P 3 5 50 3 M1.4x0.2 x 60 3C6 | 3C B 7 60 3 M1.6x0.2 x 60 3CO | 3C 0 8 60 3
M1.2x0.285x 50 1C7 | 1C 7 5 50 3 M1.2x0.2 x 50 P4 P 4 5 50 3 M1.4x0.2 x 60 3C7 | 3C 7 7 60 3 M1.6x0.2 x 60 3C1 | 3C 1 8 60 3
M1.2x0.25x 50 1C8 | 1C 8 5 50 3 M1.2x0.2 x 50 P5 = 5 5 50 3 M1.4x0.2 x 60 3C8 | 3C 8 7 60 3 M1.6x0.2 x 60 3C2 | 3C 2 8 60 3
M1.2x0.25x 50 BO B 0 5 50 3 M1.2x0.2 x 50 P6 P 6 5 50 3 M1.4x0.2 x 60 PO P 0 7 60 3 M1.6x0.2 x 60 3C3 | 3C 3 8 60 3
M1.2x0.25x 50 B1 B 1 5 50 3 M1.2x0.2 x 50 P7 P 7 5 50 3 M1.4x0.2 x 60 P1 P 1 7 60 3 M1.6x0.2 x 60 3C4 | 3C 4 8 60 3
M1.2x0.25x 50 B2 B E 5 50 3 M1.2x0.2 x 50 P8 P 8 5 50 3 M1.4x0.2 x 60 P2 P 2 7 60 3 M1.6x0.2 x 60 3C5 | 3C 5 8 60 3
M1.2x0.25x 50 B3 B 3 5 50 3 M1.4x0.3 x 60 1C1 1c 1 7 60 3 M1.4x02 x 60 P3 P 3 7 60 3 M1.6x0.2 x 60 3C6 | 3C 6 8 60 3
M1.2x0.25x 50 B4 B 4 5 50 3 M1.4x0.3 x 60 1C2 | 1C 2 7 60 3 M1.4x0.2 x 60 P4 P 4 7 60 3 M1.6x0.2 x 60 3C7 | 3C 7 8 60 3
M1.2x0.25x 50 B5 B 5 5 50 3 M1.4x0.3 x 60 1C3 | 1C 3 7 60 3 M1.4x0.2 x 60 P5 P 5 7 60 3 M1.6x0.2 x 60 3C8 | 3C 8 8 60 3
M1.2x0.25x 50 B6 B 6 5 50 3 M1.4x0.3 x 60 1C4 | 1C 4 7 60 3 M1.4x0.2 x 60 PGB P 6 7 60 3 M1.6x0.2 x 60 PO P 0 8 60 3
M1.2x0.25x 50 B7 B 7 5 50 3 M1.4x0.3 x 60 1C5 | 1C 5 7 60 3 M1.4x0.2 x 60 P7 P 7 7 60 3 M1.6x0.2 x 60 P1 P 1 8 60 3
M1.2x0.25x 50 B8 B 8 5 50 3 M1.4x0.3 x 60 1C6 | 1C 6 7 60 3 M1.4x0.2 x 60 P8 P 8 7 60 3 M1.6x0.2 x 60 P2 P 2 8 60 3
M1.2x0.25x 50 3CO | 3C 0 5 50 3 M1.4x0.3 x 60 1C7 | 1C 7 7 60 3 M1.6x0.35x 60 1C1 1c 1 8 60 3 M1.6x0.2 x 60 P3 P 3 8 60 3
M1.2x0.25x 50 3C1 | 3C 1 5 50 3 M1.4x0.3 x 60 1C8 | 1C 8 7 60 3 M1.6x0.35x 60 1C2 | 1C o 8 60 3 M1.6x0.2 x 60 P4 P 4 8 60 3
M1.2x0.25x 50 3C2 | 3C 2 5 50 3 M1.4x0.3 x 60 1C9 | 1C 9 7 60 3 M1.6x0.35x 60 1C3 | 1C 3 8 60 3 M1.6x0.2 x 60 P5 P 5 8 60 3
M1.2x0.25x 50 3C3 | 3C 3 5 50 3 M1.4x0.3 x 60 B1 B 1 7 60 3 M1.6x0.35x 60 1C4 | 1C 4 8 60 3 M1.6x0.2 x 60 P6 P 6 8 60 3
M1.2x0.25x 50 3C4 | 3C 4 5 50 3 M1.4x0.3 x 60 B2 B 2 7 60 3 M1.6x0.35x 60 1C5 | 1C 5 8 60 3 M1.6x0.2 x 60 P7 P 7 8 60 3
M1.2x0.25x 50 3C5 | 3C 5 5 50 3 M1.4x0.3 x 60 B3 B 3 7 60 3 M1.6x0.35x 60 1C6 | 1C 6 8 60 3 M1.6x0.2 x 60 P8 P 8 8 60 3
M1.2x0.25x 50 3C6 | 3C 6 5 50 3 M1.4x0.3 x 60 B4 B 4 7 60 3 M1.6x0.35x 60 1C7 | 1C 7 8 60 3 M1.7x0.35x 60 1C1 1c 1 8 60 3
M1.2x0.285x 50 3C7 | 3C 7 5 50 3 M1.4x0.3 x 60 B5 B 5 7 60 3 M1.6x0.35x 60 1C8 | 1C 8 8 60 3 M1.7x0.35x 60 1C2 | 1C 2 8 60 3
M1.2x0.25x 50 3C8 | 3C 8 5 50 3 M1.4x0.3 x 60 B6 B 6 7 60 3 M1.6x0.35x 60 1C9 | 1C 9 8 60 3 M1.7x0.35x 60 1C3 | 1C 3 8 60 3
M1.2x0.25x 50 PO P 0 5 50 3 M1.4x0.3 x 60 B7 B 7 7 60 3 M1.6x0.35x 60 B1 B 1 8 60 3 M1.7x0.35x 60 1C4 | 1C 4 8 60 3
M1.2x0.25x 50 P1 P 1 5 50 3 M1.4x0.3 x 60 B8 B 8 7 60 3 M1.6x0.35x 60 B2 B B 8 60 3 M1.7x0.35x 60 1C5 | 1C 5 8 60 3
M1.2x0.25x 50 P2 P 2 5 50 3 M1.4x0.3 x 60 B9 B 9 7 60 3 M1.6x0.35x 60 B3 B 3 8 60 3 M1.7x0.35x 60 1C6 | 1C 6 8 60 3
M1.2x0.25x 50 P3 P 3 5 50 3 M1.4x0.3 x 60 3C1 | 3C 1 7 60 3 M1.6x0.35x 60 B4 B a 8 60 3 M1.7x0.35x 60 1C7 | 1C 7 8 60 3
M1.2x0.25x 50 P4 P 4 5 50 3 M1.4x0.3 x 60 3c2 | 3C 2 7 60 3 M1.6x0.35x 60 B5 B 5 8 60 3 M1.7x0.35x 60 1C8 | 1C 8 8 60 3
M1.2x0.25x 50 P5 P 5 5 50 3 M1.4x0.3 x 60 3C3 | 3C 3 7 60 3 M1.6x0.35x 60 B6 B 6 8 60 3 M1.7x0.35x 60 1C9 | 1C 9 8 60 3
M1.2x0.25x 50 P6 P 6 B 50 3 M1.4x0.3 x 60 3C4 | 3C 4 7 60 3 M1.6x0.35x 60 B7 B 7 8 60 3 M1.7x0.35x 60 B1 B 1 8 60 3
M1.2x0.25x 50 P7 P 7 5 50 3 M1.4x0.3 x 60 3C5 | 3C 5 7 60 3 M1.6x0.35x 60 B8 B 8 8 60 3 M1.7x0.35x 60 B2 B B 8 60 3
M1.2x0.25x 50 P8 P 8 5 50 3 M1.4x0.3 x 60 3C6 | 3C 6 7 60 3 M1.6x0.35x 60 B9 B 9 8 60 3 M1.7x0.35x 60 B3 B 3 8 60 3




ITY L YB-T IT TAFLET-T ITY L YB-T it TAFLET-T

#E:HSSE FHEYUE :TiCN #8:HSSE REME:TICN

Tap material Surface treatment Tap material Surface treatment

7Ly bOBEES OBMEMUE
o~
IT-TE-T OVY — af
EE% Ill& 5 102
oy _1c | 2l
m——| 2 B | 2w & FU  EyF 2R BOME| Bf | BE | IR | 2B | W8 FU  EyF 2R BOME| BF | BE | IR | 2B | W8
3c | 3w A M1.8x0.2 x 60 306 | 3C | 6 | 8 | 60 | 3 M2 x0.25x 60 3C1 | 3C | 1 9 [ 60 | 3
P | 4w 2 M1.8x0.2 x 60 3c7 | 3C | 7 | 8 | 60 | 3 M2 x0.25x 60 3c2 | 3C | 2 | 9 | 60 | 3
oB% e M1.8x0.2 x 60 368 | 3aC | 8 | 8 | 60 | 3 M2 x0.25x 60 3C3 | 3C | 3 | 9 | 60 | 3 BX 3
3 F e M1.8x0.2 x 60 PO P | o | 8 | 60| 3 M2 x0.25x 60 3C4 | 3C | 4 | 9 | 60 | 3 £2
=7 N e o | - ] o | . M1.8x0.2 x 60 P1 P | 1 8 | 60 | 3 M2 x0.25x 60 3C5 | aC | 5 | 9 | 60 | 3 S
%g BU  EyF 28 BAME| BF | BE | IR | 28 | A FU  EyF 28 BAME| BF | BE | IR | 28 | 6 oxos xoope 1 Pp T2 5 o I T g%
“15}| [M1.7x0.35x 60 B4 B | 4 | 8 | 60 | 3 M1.8x0.35x 60 1C1_| 1C | 1 8 | 60 | 3 M1.8x0.2 x 60 P3 P | 3 | 8 | 60 | 3 M2 x0.25x 60 3C7 | 3C | 7 | 9 | 60 | 3 i
=57| [M1.7x035x 60 B5 B | 5 | 8 | 60 | 3 M1.8x0.35x 60 1C2 | 1C | 2 | 8 | 60 | 3 M1.8x0.2 x 60 P4 P | 4 | 8 | 60 | 3 M2 x0.25x 60 3c8 | 3C | 8 | 9 | 60 | 3 ¥
54| | mM1.7x0.35x 60 B6 B | 6 | 8 | 60 | 3 M1.8x0.35x 60 1C3 | 1C | 3 | 8 | 60 | 3 M1.8x0.2 x 60 P5 P | 5 | 8 | 60 | 3 M2 x0.25x 60 3C9 | 3C | 9 | 9 | 60 | 3 =07
=) | m1.7x035x 60 B7 B | 7 | 8 | 60 | 3 M1.8x0.35x 60 1C4 | I1IC | 4 | 8 | 60 | 3 M1.8x0.2 x 60 P6 P | 6 | 8 | 60 | 3 M2 x0.25x 60 P1 P | 1 9 [ 60 | 3 g3
=7 | [ m.7x035x 60 BB B | 8 | 8 | 60 | 3 M1.8x0.35x 60 165 | 1C | 5 | 8 | 60 | 3 M1.8x0.2 x 60 P7 P | 7 | 8 | 60 | 3 M2 x0.25x 60 P2 P | 2 | 9 | 60 | 3 03
i 4| |m7x038x 60 BS B | 9 | 8 | 60 | 3 M1.8x0.35x 60 1C6 | 1C | 6 | 8 | 60 | 3 M1.8x0.2 x 60 P8 P | 8 | 8 | 60 | 3 M2 x0.25x 60 P3 P | 3 | 9 |60 | 3 2
iU [ 'M1.7x0.35x 60 3C1 | 3C | 1 8 | 60 | 3 M1.8x0.35x 60 1C7 | 1C | 7 | 8 | 60 | 3 M2 x0.4 x 60 1C1 | 1C | 1 9 [ 60 | 3 M2 x0.25x 60 P4 P | 4 | 9 | 60 | 3 e
M1.7x0.35x 60 3c2 | aC | 2 | 8 | 60 | 3 M1.8x0.35x 60 1C8 | 1C | 8 | 8 | 60 | 3 M2 x0.4 x 60 1C2 | 1C | 2 | 9 | 60 | 3 M2 x0.25x 60 P5 P | 5 | 9 | 60 | 3
ogs | M1.7x035x 60 3C3 | 36 | 3 | 8 |60 | 3 M1.8x0.36x 60 1C9 | 1C | 9 | 8 | 60 | 3 M2 x04 x 60 13 | 1 | 8 | o | 60 | 3 M2 x0.25x 60 P6 P | 6 | 9 | 60 | 3 =
S M1.7x0.35x 60 3C4 | 3C | 4 | 8 | 60 | 3 M1.8x0.35x 60 B1 B | 1 8 | 60 | 3 M2 x0.4 x 60 1C4 | 1C | 4 | 9 | 60 | 3 M2 x0.25x 60 P7 P | 7 | 9 | 60 | 3 =
5F3 [mi7x0ssxe0 acs [ ac | 5 | 8 | 60 | s M1.8x0.35x 60 B2 B | 2 | 8 | 60 | 3 M2 x0.4 x 60 165 | 1C | 5 | 9 | 60 | 8 M2 x0.25x 60 P8 P | 8 | 9 | 60 | 3 FIE
@i |[M1.7x035x 60 ace | ac | 6 | 8 | 60 | 3 M1.8x0.35x 60 B3 B | 8 | 8 | 60 | 3 M2 x0.4 x 60 1C6 | 1C | 6 | 9 | 60 | 3 M2 x0.25x 60 P9 P | @ | 9 | 60 | 3 53
off | Mi1.7x035x 60 3c7 | ac | 7 | 8 | 60 | 3 M1.8x0.35x 60 B4 B | 4 | 8 | 60 | 3 M2 x0.4 x 60 1C7 | 1C | 7 | 9 | 60 | 3 M2 x0.4 x 80 1C1 | 1C | 1 9 [ 80 | 3 £z
©SF |m.7x035x 60 3c8 | 3c | 8 | 8 | 60 | 3 M1.8x0.35x 60 B5 B | 5 | 8 | 60 | 3 M2 x0.4 x 60 1C8 | 1C | 8 | 9 | 60 | 3 M2 x0.4 x 80 1C2 | 1C | 2 | 9 | 80 | 3 ES
Sz | M1.7x035x 60 3C9 | 3C | 9 | 8 | 60 | 3 M1.8x0.35x 60 B6 B | 6 | 8 | 60 | 3 M2 x0.4 x 60 1C9 | 1C | 9 | 9 | 60 | 3 M2 x0.4 x 80 1C3 | 1C | 38 | 9 | 80 | 3 xo
= M1.7x0.35x 60 P1 P 1 8 | 60 | 3 M1.8x0.35x 60 B7 B | 7 | 8 | 60 | 3 M2 x0.4 x 60 B1 B | 1 9 [ 60 | 3 M2 x04 x 80 1C4 | 1C | 4 | 9 | 8o | 3 2
= M1.7x0.35x 60 P2 P | 2 | 8 | 60 | 3 M1.8x0.35x 60 B8 B | 8 | 8 | 60 | 3 M2 x0.4 x 60 B2 B | 2 | 9 | 60 | 3 M2 x0.4 x 80 1C5 | 1C | 5 | o | 80 | 3 =
e M1.7x0.35x 60 P3 P | 8 | 8 | 60 | 3 M1.8x0.35x 60 B9 B | 9 | 8 | 60 | 3 M2 x0.4 x 60 B3 B | 3 | 9 | 60 | 3 M2 x0.4 x 80 1C6 | 1C | 6 | 9 | 80 | 8 =
= M1.7x0.35x 60 P4 P | 4 | 8 | 60 | 3 M1.8x0.35x 60 3C1 | 3C | 1 8 | 60 | 3 M2 x0.4 x 60 B4 B | 4 | 9 | 60 | 3 M2 x04 x 80 1C7 | 1C | 7 | 9 | 80 | 3 S
_ |/ M1.7x0.35x 60 P5 P | 5 | 8 | 60 | 3 M1.8x0.35x 60 3C2 | aC | 2 | 8 | 60 | 3 M2 x0.4 x 60 B5 B | 5 | 9 | 60 | 3 M2 x0.4 x 80 1C8 | 1C | 8 | 9 | 80 | 3 _
| = [m1.7x035x 60 PB P | 6 | 8 | 60 | 3 M1.8x0.35x 60 3C3 | aC | 3 | 8 | 60 | 3 M2 x0.4 x 60 B6 B | 6 | 9 | 60 | 3 M2 x0.4 x 80 1C9 | 1C | 9 | 9 | 80 | 3 = |
T% | wmi7x0.35x 60 P7 P | 7 | 8 | 60 | 3 M1.8x0.35x 60 3C4 | aC | 4 | 8 | 60 | 3 M2 x04 x 60 B7 B | 7 | 9 | 60 | 3 M2 x0.4 x 80 B1 B | 1 s | 80 | 3 =T
Y [ m1.7x035x 60 P8 P | 8 | 8 | 60 | 3 M1.8x0.36x 60 3C5 | aC | 5 | 8 | 60 | 3 M2 x0.4 x 60 B8 B | 8 | 9 | 60 | 3 M2 x0.4 x 80 B2 B | 2 | 9 | 80 | 3 me
75 [ m1.7x035x 60 P9 P | o9 | 8 | 60 | 3 M1.8x0.35x 60 3C6 | 3C | 6 | 8 | 60 | 3 M2 x0.4 x 60 B9 B | 9 | 9 | 60 | 3 M2 x0.4 x 80 B3 B | 3 | 9 | 80 | 3 57
L M1.7x0.2 x 60 1CO | 1IC | 0 | 8 | 60 | 3 M1.8x0.35x 60 3C7 | aC | 7 | 8 | 60 | 3 M2 x0.4 x 60 3C1 | 3C | 1 9 [ 60 | 3 M2 x0.4 x 80 B4 B | 4 | 9 | 80 | 3 %
e M1.7x0.2 x 60 1C1_| 1C | 1 8 | 60 | 3 M1.8x0.35x 60 3c8 | aC | 8 | 8 | 60 | 3 M2 x0.4 x 60 3c2 | 3 | 2 | 9 | 60 | 3 M2 x0.4 x 80 B5 B | 5 | 9 | 80 | 3 b
b M1.7x0.2 x 60 1C2 | 1C | 2 | 8 | 60 | 3 M1.8x0.35x 60 3C9 | aC | 9 | 8 | 60 | 3 M2 x0.4 x 60 338 | 3C | 3 | 9 | 60 | 3 M2 x0.4 x 80 B6 B | 6 | 9 | 80 | 3 b
T M1.7x0.2 x 60 1C3 | 1C | 3 | 8 | 60 | 3 M1.8x0.35x 60 P1 P | 1 8 | 60 | 3 M2 x0.4 x 60 3C4 | 3C | 4 | 9 | 60 | 3 M2 x04 x 80 B7 B | 7 | 9 | 80 | 3 T
M1.7x0.2 x 60 1C4 | 1C | 4 | 8 | 60 | 3 M1.8x0.35x 60 P2 P | 2 | 8 | 60 | 3 M2 x04 x 60 365 | 3C | 5 | 9 | 60 | 3 M2 x0.4 x 80 B8 B | 8 | 9 | 80 | 3
M1.7x0.2 x 60 1C5 | 1IC | 5 | 8 | 60 | 3 M1.8x0.35x 60 P3 P | 8 | 8 | 60 | 3 M2 x04 x 60 3C6 | 3C | 6 | 9 | 60 | 3 M2 x0.4 x 80 B9 B | 9 | 9 | 80 | 3
M1.7x0.2 x 60 1C6 | 1IC | 6 | 8 | 60 | 3 M1.8x0.35x 60 P4 P | 4 | 8 | 60 | 3 M2 x0.4 x 60 3c7 | 3C | 7 | 9 | 60 | 3 M2 x0.4 x 80 3C1 | 3C | 1 9 [ 80 | 3
M1.7x0.2 x 60 17 | 1C | 7 | 8 | 60 | 3 M1.8x0.35x 60 P5 P | 5 | 8 | 60 | 3 M2 x0.4 x 60 3c8 | 3C | 8 | 9 | 60 | 3 M2 x0.4 x 80 3c2 | 3 | 2 | 9 | 80 | 3
M1.7x0.2 x 60 1C8 | 1IC | 8 | 8 | 60 | 3 M1.8x0.35x 60 P6 P | 6 | 8 | 60 | 3 M2 x0.4 x 60 39 | 3C | 9 | 9 | 60 | 3 M2 x04 x 80 3c8 | 3C | 3 | 9 | 80 | 3
M1.7x0.2 x 60 BO B | 0 | 8 | 60 | 3 M1.8x0.35x 60 P7 P | 7 | 8 | 60 | 3 M2 x0.4 x 60 P1 P | 1 9 [ 60 | 3 M2 x04 x 80 3C4 | 3C | 4 | 9 | 80 | 3
M1.7x0.2 x 60 B1 B | 1 8 | 60 | 3 M1.8x0.35x 60 P8 P | 8 | 8 | 60 | 3 M2 x0.4 x 60 P2 P | 2 | 9 | 60 | 3 M2 x04 x 80 365 | 3C | 5 | 9 | 80 | 3
M1.7x0.2 x 60 B2 B | 2 | 8 | 60 | 3 M1.8x0.35x 60 P9 P | o9 | 8 | 60 | 3 M2 x0.4 x 60 P3 P | 3 | 9 | 60 | 3 M2 x0.4 x 80 3C6 | 3C | 6 | 9 | 80 | 3
M1.7x0.2 x 60 B3 B | 8 | 8 | 60 | 3 M1.8x0.2 x 60 1C0 | 1C | 0 | 8 | 60 | 3 M2 x0.4 x 60 P4 P | 4 | 9 | 60 | 3 M2 x04 x 80 367 | 3C | 7 | 9 | 80 | 3
M1.7x0.2 x 60 B4 B | 4 | 8 | 60 | 3 M1.8x0.2 x 60 1C1 | 1C | 1 8 | 60 | 3 M2 x0.4 x 60 P5 P | 5 | o | 60 | 3 M2 x0.4 x 80 3c8 | 3C | 8 | 9 | 80 | 3
M1.7x0.2 x 60 B5 B | 5 | 8 | 60 | 3 M1.8x0.2 x 60 1C2 | 1C | 2 | 8 | 60 | 3 M2 x0.4 x 60 P6 P | 6 | 9 | 60 | 3 M2 x0.4 x 80 3c9 | 3C | 9 | 9 | 80 | 3
M1.7x0.2 x 60 B6 B | 6 | 8 | 60 | 3 M1.8x0.2 x 60 1C3 | 1C | 3 | 8 | 60 | 3 M2 x04 x 60 P7 P | 7 | 9 | 60 | 3 M2 x0.4 x 80 P1 P | 1 9 [ 80 | 3
M1.7x0.2 x 60 B7 B | 7 | 8 | 60 | 3 M1.8x0.2 x 60 1C4 | 1IC | 4 | 8 | 60 | 3 M2 x0.4 x 60 P8 P | 8 | 9 |60 | 3 M2 x0.4 x 80 P2 P | 2 | 9 |80 | 3
M1.7x0.2 x 60 B8 B | 8 | 8 | 60 | 3 M1.8x0.2 x 60 1C5 | 1C | 5 | 8 | 60 | 3 M2 x0.4 x 60 P9 P | 9 | 9 | 60 | 3 M2 x0.4 x 80 P3 P | 3 | 9 | 80 | 3
M1.7x0.2 x 60 3C0 | 3C | 0 | 8 | 60 | 3 M1.8x0.2 x 60 1C6 | 1C | 6 | 8 | 60 | 3 M2 x0.25x 60 1C1 | 1C | 1 9 | 60 | 3 M2 x0.4 x 80 P4 P | 4 | 9 | 80 | 3
M1.7x0.2 x 60 3C1 | aC | 1 8 | 60 | 3 M1.8x0.2 x 60 1C7 | 1C | 7 | 8 | 60 | 3 M2 x0.26x 60 1C2 | 1C | 2 | 9 | 60 | 3 M2 x0.4 x 80 P5 P | 5 | 9 |80 | 3
M1.7x0.2 x 60 3C2 | aC | 2 | 8 | 60 | 3 M1.8x0.2 x 60 1C8 | 1C | 8 | 8 | 60 | 3 M2 x0.25x 60 1C3 | 1C | 38 | 9 | 60 | 3 M2 x0.4 x 80 P6 P | 6 | 9 | 80 | 3
M1.7x0.2 x 60 3C3 | 3C | 3 | 8 | 60 | 3 M1.8x0.2 x 60 BO B | o | 8 | 60 | 3 M2 x0.25x 60 1C4 | 1C | 4 | 9 | 60 | 3 M2 x04 x 80 P7 P | 7 | 9 [ 80 | 3
M1.7x0.2 x 60 3C4 | 3C | 4 | 8 | 60 | 3 M1.8x0.2 x 60 Bl B | 1 8 | 60 | 3 M2 x0.25x 60 1C5 | 1C | 5 | © | 60 | 3 M2 x0.4 x 80 P8 P | 8 | 9 |80 | 3
M1.7x0.2 x 60 3C5 | 3C | 5 | 8 | 60 | 3 M1.8x0.2 x 60 B2 B | 2 | 8 | 60 | 3 M2 x0.25x 60 1C6 | 1C | 6 | 9 | 60 | 3 M2 x04 x 80 P9 P | @ | 9 | 80 | 3
M1.7x0.2 x 60 3C6 | aC | 6 | 8 | 60 | 3 M1.8x0.2 x 60 B3 B | 8 | 8 | 60 | 3 M2 x0.25x 60 1C7 | 1C | 7 | 9 | 60 | 3 M2 x0.25x 80 1C1 | 1C | 1 9 [ 80 | 3
M1.7x0.2 x 60 367 | aC | 7 | 8 | 60 | 3 M1.8x0.2 x 60 B4 B | 4 | 8 | 60 | 3 M2 x0.256x 60 1C8 | 1C | 8 | o | 60 | 3 M2 x0.26x 80 1c2 | 1C | 2 | o | 80 | 3
M1.7x0.2 x 60 38 | 3C | 8 | 8 | 60 | 3 M1.8x0.2 x 60 B5 B | 5 | 8 | 60 | 3 M2 x0.25x 60 1C9 | 1C | 9 | 9 | 60 | 3 M2 x0.25x 80 1C3 | 1C | 38 | 9 | 80 | 3
M1.7x0.2 x 60 PO P | o | 8 | 60 | 3 M1.8x0.2 x 60 B6 B | 6 | 8 | 60 | 3 M2 x0.25x 60 B1 B | 1 9 [ 60 | 3 M2 x0.25x 80 1C4 | 1C | 4 | 9 | 80 | 3
M1.7x0.2 x 60 P1 P 1 8 | 60 | 3 M1.8x0.2 x 60 B7 B | 7 | 8 | 60 | 3 M2 x0.25x 60 B2 B | 2 | 9 | 60 | 3 M2 x0.25x 80 1C5 | 1C | 5 | 9 | 80 | 3
M1.7x0.2 x 60 P2 P | 2 | 8 | 60 | 3 M1.8x0.2 x 60 B8 B | 8 | 8 | 60 | 3 M2 x0.25x 60 B3 B | 3 | 9 | 60 | 3 M2 x0.25x 80 1C6 | 1C | 6 | 9 | 80 | 3
M1.7x0.2 x 60 P3 P | 3 | 8 | 60 | 3 M1.8x0.2 x 60 3C0 | aC | 0 | 8 | 60 | 3 M2 x0.25x 60 B4 B | 4 | 9 | 60 | 3 M2 x0.25x 80 1C7 | 1C | 7 | 9 | 80 | 3
M1.7x0.2 x 60 P4 P | 4 | 8 | 60 | 3 M1.8x0.2 x 60 3C1 | aC | 1 8 | 60 | 3 M2 x0.25x 60 B5 B | 5 | 9 | 60 | 3 M2 x0.256x 80 1C8 | 1C | 8 | o | 80 | 3
M1.7x0.2 x 60 P5 P | 5 | 8 | 60 | 3 M1.8x0.2 x 60 3C2 | 3C | 2 | 8 | 60 | 3 M2 x0.25x 60 B6 B | 6 | 9 | 60 | 3 M2 x0.25x 80 1C9 | 1C | 9 | 9 | 80 | 3
M1.7x0.2 x 60 PG P | 6 | 8 | 60 | 3 M1.8x0.2 x 60 3c3 | aC | 3 | 8 | 60 | 3 M2 x0.25x 60 B7 B | 7 | 9 | 60 | 3 M2 x0.25x 80 B1 B | 1 9 [ 80 | 3
M1.7x0.2 x 60 P7 P | 7 | 8 | 60 | 3 M1.8x0.2 x 60 3C4 | 3C | 4 | 8 | 60 | 3 M2 x0.25x 60 B8 B | 8 | 9 | 60 | 3 M2 x0.25x 80 B2 B | 2 | 9 | 80 | 3
M1.7x0.2 x 60 P8 P | 8 | 8 | 60 | 3 M1.8x0.2 x 60 305 | 3C | 5 | 8 | 60 | 3 M2 x0.25x 60 B9 B | 9 | 9 | 60 | 3 M2 x0.25x 80 B3 B | 3 | 9 | 80 | 3




ITY2LYb-T i1 TAFLET-T ITY2LYb-T i1 TAFLET-T

#E :HSSE FHEYUE :TiCN #E8:HSSE REUE:TICN

Tap material Surface treatment Tap material Surface treatment

7Ly FOEEBRSOBEMEMLE

. s
IT-TF-T OV BEL -
) ol
= 1C | 7 -
O w B 2w & O EyF 25 SREE| BN | BE | IE | 25 | WE O  EyF 25 BREE| BN | BE | IE | 25 | WE
3C 31 g; M2.2x0.45x 80 3C7 3C 7 9 80 3 M2.3x0.4 x 60 3C1 3C 1 9 60 3
P al 25 M2.2x0.45x 80 3C8 3C 8 9 80 3 M2.3x0.4 x 60 3C2 3C 2 9 60 3
SB% L M2.2x0.45x 80 3C9 | 3C | 9 o |80 | 3 M2.3x0.4 x 60 3C3 | 3C | 3 o [ 60 | 3 B8
g E R M2.2x0.45x 80 P1 P 1 9 80 3 M2.3x0.4 x 60 3C4 | 3C 4 9 60 3 E g
SiF . e ] N ~ . e = | e ~ M2.2x0.45x 80 P2 P 2 9 80 3 M2.3x0.4 x 60 3C5 | 3C 5 9 60 3 5 S
%g HO  EyF 2E SHEE| BN | BE | IE | 28 | W& HO  EyF 2E SHEE| BN | BE | IE | 28 | W& D Ao e R T T = T g%
— \y M2 x0.25x 80 B4 B 4 9 80 3 M2.2x0.25x 60 1C1 1C 1 9 60 3 M2.2x0.45x 80 P4 P 4 9 80 3 M2.3x0.4 x 60 3C7 3C 7 9 60 3 \y —
% 7 M2 x0.25x 80 B5 B 5 9 80 3 M2.2x0.25x 60 1C2 1C 2 9 60 3 M2.2x0.45x 80 P5 P 5 9 80 3 M2.3x0.4 x 60 3C8 3C 8 9 60 3 7%
wn~ M2 x0.25x 80 B6 B 6 9 80 3 M2.2x0.25%x 60 1C3 1C 3 9 60 3 M2.2x0.45x 80 P6 P 6 9 80 3 M2.3x0.4 X 60 3C9 3C 9 9 60 3 ~ 0
’_'T g M2 x0.25x 80 B7 B 7 9 80 & M2.2x0.25x 60 1C4 1C 4 9 60 & M2.2x0.45x 80 P7 P 7 9 80 & M2.3x0.4 x 60 P1 P 1 9 60 & g ’_'T
% 7] M2 x0.25x 80 B8 B 8 9 80 & M2.2x0.25x 60 1C5 16 5 9 60 & M2.2x0.45x 80 P8 P 8 9 80 3 M2.3x0.4 x 60 P2 P 2 9 60 3 U %
E v M2 x0.25x 80 B9 B 9 9 80 3 M2.2x0.25x 60 1C6 1C 6 9 60 3 M2.2x0.45x 80 P9 P 9 9 80 3 M2.3x0.4 X 60 P3 P 3 9 60 g P E
d l: M2 x0.25x 80 3CI1 3C 1 9 80 3 M2.2x0.25x 60 1C7 1C 7 9 60 3 M2.2x0.25x 80 1C1 1C 1 9 80 3 M2.3x0.4 x 60 P4 P 4 9 60 3 t d
M2 x0.25x 80 3C2 3C 2 9 80 3 M2.2x0.25x 60 1C8 1C 8 9 60 3 M2.2x0.25x 80 1C2 1C 2 9 80 3 M2.3x0.4 x 60 P5 P 5 9 60 3
2] % M2 x0.25x 80 3C3 3C 3 9 80 3 M2.2x0.25%x 60 1C9 1C 9 9 60 3 M2.2x0.25x 80 1C3 1C 3 9 80 3 M2.3x0.4 X 60 P6 P 6 9 60 3 % (2]
8 M2 x0.25x 80 3C4 3C 4 9 80 & M2.2x0.25x 60 Bl B 1 9 60 & M2.2x0.25x 80 1C4 1C 4 9 80 & M2.3x0.4 X 60 P7 P 7 9 60 & 8
E Fa M2 x0.25x 80 3C5 3C 5 9 80 & M2.2x0.25x 60 B2 B 2 9 60 & M2.2x0.25x 80 1C5 1C 5 9 80 3 M2.3x0.4 X 60 PS8 P 8 9 60 3 Fﬂ E
= E M2 x0.25x 80 3C6 3C 6 9 80 3 M2.2x0.25x 60 B3 B 3 9 60 3 M2.2x0.25x 80 1C6 1C 6 9 80 3 M2.3x0.4 X 60 P9 P 9 9 60 g E @
%T:E M2 x0.25x 80 3C7 3C 7 9 80 3 M2.2x0.25x 60 B4 B 4 9 60 3 M2.2x0.25x 80 1C7 1C 7 9 80 3 M2.3x0.25x 60 1C1 1C 1 9 60 3 E%
BE M2 x0.25x 80 3C8 3C 8 9 80 3 M2.2x0.25x 60 B5 B 5 9 60 3 M2.2x0.25x 80 1C8 1C 8 9 80 3 M2.3x0.25x 60 1C2 1C 2 9 60 3 EB
% ﬁ M2 x0.25x 80 3C9 3C 9 9 80 3 M2.2x0.25x 60 B6 B 6 9 60 3 M2.2x0.25x 80 1C9 1C 9 9 80 3 M2.3x0.25x 60 1C3 1C 3 9 60 3 ﬁ g
% M2 x0.25x 80 P1 P 1 9 80 & M2.2x0.25x 60 B7 B 7 9 60 & M2.2x0.25x 80 B1 B 1 9 80 & M2.3x0.25x 60 1C4 1C 4 9 60 & %
i‘ M2 x0.25x 80 P2 P 2 9 80 &) M2.2x0.25x 60 B8 B 8 9 60 &) M2.2x0.25x 80 B2 B 2 9 80 3 M2.3x0.25x 60 1C5 1C 5 9 60 3 i
g M2 x0.25x 80 P3 P 3 9 80 3 M2.2x0.25x 60 B9 B 9 9 60 3 M2.2x0.25x 80 B3 B 3 9 80 3 M2.3x0.25x 60 1C6 1C 6 9 60 3 g
% M2 x0.25x 80 P4 P 4 9 80 3 M2.2x0.25x 60 3C1 3C 1 9 60 3 M2.2x0.25x 80 B4 B 4 9 80 3 M2.3x0.25x 60 1C7 1C 7 9 60 3 %
_ M2 x0.25x 80 P5 P 5 9 80 3 M2.2x0.25x 60 3C2 3C 2 9 60 3 M2.2x0.25x 80 BS5 B 5 9 80 3 M2.3x0.25x 60 1C8 1C 8 9 60 3 _

I :: M2 x0.25x 80 P6 P 6 9 80 3 M2.2x0.25%x 60 3C3 3C 3 9 60 3 M2.2x0.25x 80 B6 B 6 9 80 3 M2.3x0.25x 60 1C9 1C 9 9 60 3 j I
T -|)i| M2 x0.25x 80 P7 P 7 9 80 & M2.2x0.25x 60 3C4 3C 4 9 60 & M2.2x0.25x 80 B7 B 7 9 80 & M2.3x0.25x 60 Bl B 1 9 60 & % T
g 5 M2 x0.25x 80 P8 =) 8 9 80 & M2.2x0.25x 60 3C5 3C 5 9 60 &) M2.2x0.25x 80 B8 B 8 9 80 3 M2.3x0.25x 60 B2 B 2 9 60 3 E 9
7 4 M2 x0.25x 80 P9 P 9 9 80 3 M2.2x0.25x 60 3C6 3C 6 9 60 3 M2.2x0.25x 80 B9 B 9 9 80 S M2.3x0.25x 60 B3 B 3 9 60 3 'j 7
I-/ M2.2x0.45x 60 1C1 1C 1 9 60 3 M2.2x0.25x 60 3C7 3C 7 9 60 3 M2.2x0.25x 80 3C1 3C 1 9 80 3 M2.3x0.25x 60 B4 B 4 9 60 3 I./
v M2.2x0.45x 60 1C2 1C 2 9 60 3 M2.2x0.25x 60 3C8 3C 8 9 60 3 M2.2x0.25x 80 3C2 3C 2 9 80 3 M2.3x0.25x 60 BS5 B 5 9 60 3 P4
II\ M2.2x0.45x 60 1C3 1C 3 9 60 3 M2.2x0.25x 60 3C9 3C 9 9 60 3 M2.2x0.25x 80 3C3 3C 3 9 80 3 M2.3x0.25x 60 B6 B 6 9 60 3 ll\
T M2.2x0.45x 60 1C4 1C 4 9 60 S M2.2x0.25x 60 P1 P 1 9 60 S M2.2x0.25x 80 3C4 3C 4 9 80 3 M2.3x0.25x 60 B7 B 7 9 60 3 T

M2.2x0.45%x 60 1C5 1C 5 9 60 & M2.2x0.25x 60 P2 P 2 9 60 &) M2.2x0.25x 80 3C5 3C 5 9 80 & M2.3x0.25x 60 B8 B 8 9 60 &
M2.2x0.45x 60 1C6 1C 6 9 60 3 M2.2x0.25x 60 P3 P 3 9 60 3 M2.2x0.25x 80 3C6 3C 6 9 80 S M2.3x0.25x 60 B9 B 9 9 60 3
M2.2x0.45x 60 1C7 1C 7 9 60 3 M2.2x0.25x 60 P4 P 4 9 60 3 M2.2x0.25x 80 3C7 3C 7 9 80 3 M2.3x0.25x 60 3C1 3C 1 9 60 3
M2.2x0.45x 60 1C8 1C 8 9 60 3 M2.2x0.25x 60 P5 P 5 9 60 3 M2.2x0.25x 80 3C8 3C 8 9 80 3 M2.3x0.25x 60 3C2 3C 2 9 60 3
M2.2x0.45x 60 1C9 1C 9 9 60 3 M2.2x0.25x 60 P6 P 6 9 60 3 M2.2x0.25x 80 3C9 3C 9 9 80 3 M2.3x0.25x 60 3C3 3C 3 9 60 3
M2.2x0.45x 60 B1 B 1 9 60 S M2.2x0.25x 60 P7 P 7 9 60 S M2.2x0.25x 80 Pl P 1 9 80 3 M2.3x0.25x 60 3C4 3C 4 9 60 3
M2.2x0.45x 60 B2 B 2 9 60 & M2.2x0.25x 60 P8 P 8 9 60 & M2.2x0.25x 80 P2 P 2 9 80 & M2.3x0.25x 60 3C5 3C 5 9 60 &
M2.2x0.45x 60 B3 B 3 9 60 3 M2.2x0.25x 60 P9 P 9 9 60 3 M2.2x0.25x 80 P3 P 3 9 80 3 M2.3x0.25x 60 3C6 3C 6 9 60 3
M2.2x0.45x 60 B4 B 4 9 60 3 M2.2x0.45x 80 1C1 1C 1 9 80 3 M2.2x0.25x 80 P4 P 4 9 80 3 M2.3x0.25x 60 3C7 3C 7 9 60 3
M2.2x0.45x 60 B5 B 5 9 60 3 M2.2x0.45x 80 1C2 1C 2 9 80 3 M2.2x0.25x 80 P5 P 5 9 80 3 M2.3x0.25x 60 3C8 3C 8 9 60 3
M2.2x0.45x 60 B6 B 6 9 60 3 M2.2x0.45x 80 1C3 1C 3 9 80 3 M2.2x0.25x 80 P6 P 6 9 80 3 M2.3x0.25x 60 3C9 3C 9 9 60 3
M2.2x0.45x 60 B7 B 7 9 60 3 M2.2x0.45x 80 1C4 1C 4 9 80 3 M2.2x0.25x 80 P7 P 7 9 80 3 M2.3x0.25%x 60 P1 P 1 9 60 3
M2.2x0.45x 60 B8 B 8 9 60 & M2.2x0.45%x 80 1C5 1C 5 9 80 & M2.2x0.25x 80 P8 P 8 9 80 & M2.3x0.25x 60 P2 P 2 9 60 g
M2.2x0.45x 60 B9 B 9 9 60 3 M2.2x0.45x 80 1C6 1C 6 9 80 3 M2.2x0.25x 80 P9 P 9 9 80 3 M2.3x0.25x 60 P3 P 3 9 60 3
M2.2x0.45x 60 3C1 3C 1 9 60 3 M2.2x0.45x 80 1C7 1C 7 9 80 3 M2.3x0.4 x 60 1C1 1C 1 9 60 3 M2.3x0.25x 60 P4 P 4 9 60 3
M2.2x0.45x 60 3C2 3C 2 9 60 3 M2.2x0.45x 80 1C8 1C 8 9 80 3 M2.3x0.4 x 60 1C2 1C 2 9 60 3 M2.3x0.25x 60 P5 P 5 9 60 3
M2.2x0.45x 60 3C3 3C 3 9 60 3 M2.2x0.45x 80 1C9 1C 9 9 80 3 M2.3x0.4 x 60 1C3 1C 3 9 60 3 M2.3x0.25x 60 P6 P 6 9 60 3
M2.2x0.45x 60 3C4 3C 4 9 60 3 M2.2x0.45x 80 B1 B 1 9 80 3 M2.3x0.4 X 60 1C4 1C 4 9 60 3 M2.3x0.25x 60 P7 P 7 9 60 3
M2.2xX0.45%x 60 3C5 3C 5 9 60 & M2.2x0.45x 80 B2 B 2 9 80 & M2.3x0.4 X 60 1C5 1C 5 9 60 & M2.3x0.25x 60 P8 P 8 9 60 g
M2.2x0.45x 60 3C6 3C 6 9 60 3 M2.2x0.45x 80 B3 B 3 9 80 3 M2.3x0.4 X 60 1C6 1C 6 9 60 3 M2.3x0.25x 60 P9 P 9 9 60 3
M2.2x0.45x 60 3C7 3C 7 9 60 3 M2.2x0.45x 80 B4 B 4 9 80 3 M2.3x0.4 x 60 1C7 1C 7 9 60 3 M2.3x0.4 x 80 1C1 1C 1 9 80 3
M2.2x0.45%x 60 3C8 3C 8 9 60 3 M2.2x0.45x 80 BS5 B 5 9 80 3 M2.3x0.4 x 60 1C8 1C 8 9 60 3 M2.3x0.4 x 80 1C2 1C 2 9 80 3
M2.2x0.45x 60 3C9 3C 9 9 60 3 M2.2x0.45x 80 B6 B 6 9 80 3 M2.3x0.4 x 60 1C9 1C 9 9 60 3 M2.3x0.4 x 80 1C3 1C 3 9 80 3
M2.2x0.45x 60 P1 P 1 9 60 & M2.2x0.45x 80 B7 B 7 9 80 & M2.3x0.4 x 60 BI1 B 1 9 60 3 M2.3x0.4 x 80 1C4 1C 4 9 80 3
M2.2x0.45x 60 P2 P 2 9 60 3 M2.2x0.45x 80 B8 B 8 9 80 3 M2.3x0.4 X 60 B2 B 2 9 60 3 M2.3x0.4 X 80 1C5 1C 5 9 80 g
M2.2x0.45x 60 P3 P 3 9 60 3 M2.2x0.45x 80 B9 B 9 9 80 3 M2.3x0.4 X 60 B3 B 3 9 60 3 M2.3xX0.4 X 80 1C6 1C 6 9 80 3
M2.2x0.45x 60 P4 P 4 9 60 3 M2.2x0.45x 80 3C1 3C 1 9 80 3 M2.3x0.4 x 60 B4 B 4 9 60 3 M2.3x0.4 x 80 1C7 1C 7 9 80 3
M2.2x0.45x 60 P5 P 5 9 60 3 M2.2x0.45x 80 3C2 3C 2 9 80 3 M2.3x0.4 X 60 BS5 B 5 9 60 3 M2.3x0.4 X 80 1C8 1C 8 9 80 3
M2.2x0.45x 60 P6 P 6 9 60 3 M2.2x0.45x 80 3C3 3C 3 9 80 3 M2.3x0.4 x 60 B6 B 6 9 60 3 M2.3x0.4 x 80 1C9 1C 9 9 80 3
M2.2x0.45x 60 P7 P 7 9 60 & M2.2x0.45x 80 3C4 3C 4 9 80 & M2.3x0.4 X 60 B7 B 7 9 60 3 M2.3x0.4 x 80 BI1 B 1 9 80 3
M2.2x0.45x 60 P8 P 8 9 60 3 M2.2x0.45x 80 3C5 3C B 9 80 3 M2.3x0.4 X 60 B8 B 8 9 60 3 M2.3x0.4 x 80 B2 B 2 9 80 g
M2.2x0.45x 60 P9 P 9 9 60 3 M2.2x0.45x 80 3C6 3C 6 9 80 3 M2.3x0.4 X 60 B9 B 9 9 60 3 M2.3xX0.4 X 80 B3 B 3 9 80 3




ITY2LYb-T i1 TAFLET-T ITY2LYb-T i1 TAFLET-T

#E :HSSE FHEYUE :TiCN #E8:HSSE REUE:TICN

Tap material Surface treatment Tap material Surface treatment

7Ly FOEEBRSOBEMEMLE

.
IT-TF-T OV BEL -
S Wi 5 02
e— 1c | 1w 3 8-
w - —————— ' B a1 o aal- BU  EvF 2E BNEE| BN | BE | IR | 2R | AR HU  EvF 2E BEE| BN | BE | IR | 2R | @R
3C 3 . M2.5x0.35X 60 3C7 3C 7 10 60 3 M2.5x0.35x 80 3C1 3C 1 10 80 3
P a1l 25 M2.5x0.35x 60 3C8 3C 8 10 60 3 M2.5x0.35x 80 3C2 3C 2 10 80 3
SB% 13 M2.5x0.35x 60 3C9 | 3C 9 10 | 60 3 M2.5x0.35x 80 3C3 | 3C 3 10 | 80 3 B3
z E R M2.5x0.35x 60 P1 P 1 10 | 60 | 3 M2.5x0.35x 80 3C4 | 3C | 4 10 | 80 | 3 E z
= M2.5x0.35x 60 P2 P 2 10 60 3 M2.5x0.35x 80 3C5 3C 5 10 80 3 =
[ O e 5 4 | m = BO b 8 4 | = = [
%;’ 36 EuF 2R BURE| BN | BE | IR | 28 | W& 35 EuF 2R BURE| BN | BE | R | 28 | W& e T BT e B S g%
N M2.3x0.4 x 80 B4 B 4 9 80 3 M2.5x0.45x 60 1C1 1C 1 10 60 3 M2.5x0.35x 60 P4 P 4 10 60 3 M2.5x0.35x 80 3C7 3C 7 10 80 3 N
dw wd
% 7 M2.3x0.4 x 80 B5 B 5 9 80 3 M2.5x0.45x 60 1C2 1C 2 10 60 3 M2.5x0.35x 60 P5 P 5 10 60 3 M2.5x0.35x 80 3C8 3C 8 10 80 3 7%
wn~ M2.3x0.4 x 80 B6 B 6 9 80 3 M2.5x0.45x 60 1C3 1C 3 10 60 3 M2.5x0.35x 60 P6 P 6 10 60 3 M2.5x0.35x 80 3CS 3C 9 10 80 3 ~Om
3 g M2.3x0.4 x 80 B7 B 7 9 80 3 M2.5x0.45x 60 1C4 1C 4 10 60 3 M2.5x0.35x 60 P7 P 7 10 60 3 M2.5x0.35x 80 P1 P 1 10 80 3 g 3
% 7] M2.3x0.4 x 80 B8 B 8 9 80 3 M2.5x0.45x 60 1C5 1C 5 10 60 3 M2.5x0.35x 60 P8 B 8 10 60 3 M2.5x0.35x 80 P2 B 2 10 80 3 U %
E i‘{ M2.3x04 x 80 B9 B 9 9 80 3 M2.5x0.45x 60 1C6 1C 6 10 60 3 M2.5x0.35x 60 P9 P 9 10 60 3 M2.5x0.35x 80 P3 P 3 10 80 3 i{ E
SN0 M2.3x0.4 x 80 3CI1 3C 1 9 80 3 M2.5x0.45x 60 1C7 1C 7 10 60 3 M2.5x0.45x 80 1C1 1C 1 10 80 3 M2.5x0.35x 80 P4 P 4 10 80 3 L3
M2.3x0.4 x 80 3C2 3C 2 9 80 3 M2.5x0.45x 60 1C8 1C 8 10 60 3 M2.5x0.45x 80 1C2 1C 2 10 80 3 M2.5x0.35x 80 P5 P 5 10 80 3
g% M2.3x0.4 x 80 3C3 3C 3 9 80 3 M2.5x0.45x 60 1C9 1C 9 10 60 3 M2.5x0.45x 80 1C3 1C 3 10 80 3 M2.5x0.35x 80 P6 P 6 10 80 3 %g
= M2.3x0.4 x 80 3C4 3C 4 9 80 3 M2.5x0.45x 60 B1 B 1 10 60 3 M2.5x0.45x 80 1C4 1C 4 10 80 3 M2.5x0.35x 80 P7 P 7 10 80 3 Fﬂ =
E Fa M2.3x0.4 x 80 3C5 3C 5 9 80 3 M2.5x0.45x 60 B2 B 2 10 60 3 M2.5x0.45x 80 1C5 1C 5 10 80 3 M2.5x0.35x 80 P8 B 8 10 80 3 E
=2 E M2.3x0.4 x 80 3C6 3C 6 9 80 3 M2.5x0.45x 60 B3 B 3 10 60 3 M2.5x0.45x 80 1C6 1C 6 10 80 3 M2.5x0.35x 80 P9 P 9 10 80 3 E @
%‘T:E M2.3x0.4 x 80 3C7 3C 7 9 80 3 M2.5x0.45x 60 B4 B 4 10 60 3 M2.5x0.45x 80 1C7 1C 7 10 80 3 M2.6xX0.45x 60 1C1 1C 1 10 60 3 E‘-@
BE M2.3x0.4 x 80 3C8 3C 8 9 80 3 M2.5x0.45x 60 BS5 B 5 10 60 3 M2.5x0.45x 80 1C8 1C 8 10 80 3 M2.6x0.45x 60 1C2 1C 2 10 60 3 F::?B
gﬁ M2.3x0.4 x 80 3C9 3C 9 9 80 3 M2.5x0.45x 60 B6 B 6 10 60 3 M2.5x0.45x 80 1C9 1C 9 10 80 3 M2.6xX0.45x 60 1C3 1C 3 10 60 3 ﬁg
c% M2.3x0.4 x 80 P1 P 1 9 80 3 M2.5x0.45x 60 B7 B 7 10 60 3 M2.5x0.45x 80 B1 B 1 10 80 3 M2.6x0.45x 60 1C4 1C 4 10 60 3 %
i M2.3x0.4 x 80 P2 [P 2 9 80 3 M2.5x0.45x 60 B8 B 8 10 60 3 M2.5x0.45x 80 B2 B 2 10 80 3 M2.6x0.45x 60 1C5 1C 5 10 60 3 %
g M2.3x04 x 80 P3 P 3 9 80 3 M2.5x0.45x 60 BS B 9 10 60 3 M2.5x0.45x 80 B3 B 3 10 80 3 M2.6x0.45x 60 1C6 1C 6 10 60 3 S
= M2.3x0.4 X 80 P4 P 4 9 80 3 M2.5x0.45x 60 3C1 3C 1 10 60 3 M2.5x0.45x 80 B4 B 4 10 80 3 M2.6x0.45x 60 1C7 1C 7 10 60 3 S
_ M2.3x0.4 x 80 P5 P 5 9 80 3 M2.5x0.45x 60 3C2 3C 2 10 60 3 M2.5x0.45x 80 BS5 B 5 10 80 3 M2.6x0.45x 60 1C8 1C 8 10 60 3 _

I :: M2.3x0.4 x 80 P6 P 6 9 80 3 M2.5x0.45x 60 3C3 3C 3 10 60 3 M2.5x0.45x 80 B6 B 6 10 80 3 M2.6x0.45x 60 1C9 1C 9 10 60 3 j I
T % M2.3x0.4 x 80 P7 P 7 9 80 3 M2.5x0.45x 60 3C4 3C 4 10 60 3 M2.5x0.45x 80 B7 B 7 10 80 3 M2.6x0.45x 60 B1 B 1 10 60 3 % T
9 5 M2.3x0.4 x 80 P8 P 8 9 80 3 M2.5x0.45x 60 3C5 3C 5 10 60 3 M2.5x0.45x 80 B8 B 8 10 80 3 M2.6x0.45x 60 B2 B 2 10 60 3 E 9

4 -3 X 0. X P .5 X0. X 1 .S X0. X B 1 .6X0. X B 1 4
- M2.3x0.4 80 P9 9 9 80 3 M2.5x0.45x 60 3C6 3C 6 0 60 3 M2.5x0.45x 80 B9 9 0 80 3 M2.6x0.45x 60 B3 3 0 60 3 7
I:‘/ M2.3x0.25x 80 1C1 1C 1 9 80 3 M2.5x0.45x 60 3C7 3C 7 10 60 3 M2.5x0.45x 80 3C1 3C 1 10 80 3 M2.6x0.45x 60 B4 B 4 10 60 3 I:‘/

J M2.3x0.25x 80 1C2 1C 2 9 80 3 M2.5x0.45x 60 3C8 3C 8 10 60 3 M2.5x0.45x 80 3C2 3C 2 10 80 3 M2.6x0.45x 60 BS5 B 5 10 60 3 o4
II\ M2.3x0.25x 80 1C3 1C 3 9 80 3 M2.5x0.45x 60 3C9 3C 9 10 60 3 M2.5x0.45x 80 3C3 3C 3 10 80 3 M2.6x0.45x 60 B6 B 6 10 60 3 ll\
T M2.3x0.25x 80 1C4 1C 4 9 80 3 M2.5x0.45x 60 P1 P 1 10 60 3 M2.5x0.45x 80 3C4 3C 4 10 80 3 M2.6x0.45x 60 B7 B 7 10 60 3 T

M2.3x0.25x 80 1C5 1C 5 9 80 3 M2.5x0.45x 60 P2 P 2 10 60 3 M2.5x0.45x 80 3C5 3C 5 10 80 3 M2.6x0.45x 60 B8 B 8 10 60 3
M2.3x0.25x 80 1C6 1C 6 9 80 3 M2.5x0.45x 60 P3 P 3 10 60 3 M2.5x0.45x 80 3C6 3C 6 10 80 3 M2.6x0.45x 60 B9 B 9 10 60 3
M2.3x0.25x 80 1C7 1C 7 9 80 3 M2.5x0.45x 60 P4 P 4 10 60 3 M2.5x0.45x 80 3C7 3C 7 10 80 3 M2.6x0.45x 60 3C1 3C 1 10 60 3
M2.3x0.25x 80 1C8 1C 8 9 80 3 M2.5x0.45x 60 PS5 P 5 10 60 3 M2.5x0.45x 80 3C8 3C 8 10 80 3 M2.6x0.45x 60 3C2 3C 2 10 60 3
M2.3x0.25x 80 1C9 1C 9 9 80 3 M2.5x0.45x 60 P6 P 6 10 60 3 M2.5x0.45x 80 3CS 3C 9 10 80 3 M2.6x0.45x 60 3C3 3C 3 10 60 3
M2.3x0.25x 80 B1 B 1 g 80 3 M2.5x0.45x 60 P7 P 7 10 60 3 M2.5x0.45x 80 P1 P 1 10 80 3 M2.6x0.45x 60 3C4 3C 4 10 60 3
M2.3x0.25x 80 B2 B 2 9 80 3 M2.5x0.45x 60 P8 P 8 10 60 3 M2.5x0.45x 80 P2 P 2 10 80 3 M2.6x0.45x 60 3C5 3C 5 10 60 3
M2.3x0.25x 80 B3 B 3 9 80 3 M2.5x0.45x 60 PS P 9 10 60 3 M2.5x0.45x 80 P3 P 3 10 80 3 M2.6x0.45x 60 3C6 3C 6 10 60 3
M2.3x0.25x 80 B4 B 4 9 80 3 M2.5x0.35x 60 1C1 1C 1 10 60 3 M2.5x0.45x 80 P4 P 4 10 80 3 M2.6xX0.45x 60 3C7 3C 7 10 60 3
M2.3x0.25x 80 BS5 B 5 9 80 3 M2.5x0.35x 60 1C2 1C 2 10 60 3 M2.5x0.45x 80 P5 P 5 10 80 3 M2.6x0.45x 60 3C8 3C 8 10 60 3
M2.3x0.25x 80 B6 B [S] 9 80 3 M2.5x0.35x 60 1C3 1C 3 10 60 3 M2.5x0.45x 80 P6 P 6 10 80 3 M2.6x0.45x 60 3CS 3C 9 10 60 3
M2.3x0.25x 80 B7 B 7 g 80 3 M2.5x0.35x 60 1C4 1C 4 10 60 3 M2.5x0.45x 80 P7 P 7 10 80 3 M2.6x0.45x 60 P1 P 1 10 60 3
M2.3x0.25x 80 B8 B 8 9 80 3 M2.5x0.35x 60 1C5 1C 5 10 60 3 M2.5x0.45x 80 P8 P 8 10 80 3 M2.6x0.45x 60 P2 P 2 10 60 3
M2.3x0.25x 80 BS B 9 9 80 3 M2.5x0.35x 60 1C6 1C 6 10 60 3 M2.5x0.45x 80 P9 P 9 10 80 3 M2.6x0.45x 60 P3 P 3 10 60 3
M2.3x0.25x 80 3C1 3C 1 9 80 3 M2.5x0.35x 60 1C7 1C 7 10 60 3 M2.5x0.35x 80 1C1 1C 1 10 80 3 M2.6x0.45x 60 P4 P 4 10 60 3
M2.3x0.25x 80 3C2 3C 2 9 80 3 M2.5x0.35x 60 1C8 1C 8 10 60 3 M2.5x0.35x 80 1C2 1C 2 10 80 3 M2.6x0.45x 60 PS5 P 5 10 60 3
M2.3x0.25x 80 3C3 3C 3 9 80 3 M2.5x0.35x 60 1C9 1C 9 10 60 3 M2.5x0.35x 80 1C3 1C 3 10 80 3 M2.6x0.45x 60 P6 P 6 10 60 3
M2.3x0.25x 80 3C4 3C 4 9 80 3 M2.5x0.35x 60 B1 B 1 10 60 3 M2.5x0.35x 80 1C4 1C 4 10 80 3 M2.6x0.45x 60 P7 P 7 10 60 3
M2.3x0.25x 80 3C5 3C 5 9 80 3 M2.5x0.35x 60 B2 B 2 10 60 3 M2.5x0.35x 80 1C5 1C 5 10 80 3 M2.6x0.45x 60 P8 P 8 10 60 3
M2.3x0.25x 80 3C6 3C 6 9 80 3 M2.5x0.35x 60 B3 B 3 10 60 3 M2.5x0.35x 80 1C6 1C 6 10 80 3 M2.6x0.45x 60 P9 P 9 10 60 3
M2.3x0.25x 80 3C7 3C 7 9 80 3 M2.5x0.35x 60 B4 B 4 10 60 3 M2.5x0.35x 80 1C7 1C 7 10 80 3 M2.6xX0.35x 60 1C1 1C 1 10 60 3
M2.3x0.25x 80 3C8 3C 8 9 80 3 M2.5x0.35x 60 BS5 B 5 10 60 3 M2.5x0.35x 80 1C8 1C 8 10 80 3 M2.6x0.35x 60 1C2 1C 2 10 60 3
M2.3x0.25x 80 3C9 3C 9 9 80 3 M2.5x0.35x 60 B6 B 6 10 60 3 M2.5x0.35x 80 1CS 1C 9 10 80 3 M2.6x0.35x 60 1C3 1C 3 10 60 3
M2.3x0.25x 80 P1 P 1 9 80 3 M2.5x0.35x 60 B7 B 7 10 60 3 M2.5x0.35x 80 BI1 B 1 10 80 3 M2.6x0.35x 60 1C4 1C 4 10 60 3
M2.3x0.25x 80 P2 P 2 9 80 3 M2.5x0.35x 60 B8 B 8 10 60 3 M2.5x0.35x 80 B2 B 2 10 80 3 M2.6x0.35x 60 1C5 1C 5 10 60 3
M2.3x0.25x 80 P3 P 3 9 80 3 M2.5x0.35x 60 BS B 9 10 60 3 M2.5x0.35x 80 B3 B 3 10 80 3 M2.6x0.35x 60 1C6 1C 6 10 60 3
M2.3x0.25x 80 P4 P 4 9 80 3 M2.5x0.35x 60 3C1 3C 1 10 60 3 M2.5x0.35x 80 B4 B 4 10 80 3 M2.6xX0.35x 60 1C7 1C 7 10 60 3
M2.3x0.25x 80 PS5 P 5 9 80 3 M2.5x0.35x 60 3C2 3C 2 10 60 3 M2.5x0.35x 80 B5 B 5 10 80 3 M2.6x0.35x 60 1C8 1C 8 10 60 3
M2.3x0.25x 80 P6 P [S] 9 80 3 M2.5x0.35x 60 3C3 3C 3 10 60 3 M2.5x0.35x 80 B6 B 6 10 80 3 M2.6x0.35x 60 1C9 1C 9 10 60 3
M2.3x0.25x 80 P7 P 7 9 80 3 M2.5x0.35x 60 3C4 3C 4 10 60 3 M2.5x0.35x 80 B7 B 7 10 80 3 M2.6x0.35x 60 BI1 B 1 10 60 3
M2.3x0.25x 80 P8 P 8 9 80 3 M2.5x0.35x 60 3C5 3C 5 10 60 3 M2.5x0.35x 80 B8 B 8 10 80 3 M2.6x0.35x 60 B2 B 2 10 60 3
M2.3x0.25x 80 P9 P 9 9 80 3 M2.5x0.35x 60 3C6 3C [S] 10 60 3 M2.5x0.35x 80 B9 B 9 10 80 3 M2.6x0.35x 60 B3 B 3 10 60 3




ITY L YB-T IT TAFLET-T ITY L YB-T it TAFLET-T

#E:HSSE FHEYUE :TiCN #8:HSSE REME:TICN

Tap material Surface treatment Tap material Surface treatment

7Ly bOBEES OBMEMUE
o~
IT-TF-TOYY BRI i
EE% Ill& 5 102
oy _1c | 2l
- B | 2w & FU  EyF 2R BOME| Bf | BE | IR | 2B | W8 FU  EyF 2R BOME| BF | BE | IR | 2B | W8
3c | 3w o M3 x05 x 80 368 | 3C | 8 | 10 | 80 | 3 M3 x05 x100 3c2 | 8C | 2 | 10 | 100 | 3
P | aw 2 M3 x05 x 80 3c9 | 3C | 9 | 10 | 80 | 3 M3 x0.5 x100 3c3 | 8C | & | 10 | 100 | 3
3B% - M3 x0.5 x 80 3C10| 3C | 10 | 10 | 80 | 3 M3 x0.5 x100 3C4 | 3C | 4 | 10 | 100 | 3 EX8
2+ e M3 x05 x 80 P2 P 2 | 10 | 80| 3 M3 x05 x100 3C5 | 3C | 5 | 10 | 100 | 3 £2
Sl e o | - ] o | - M3 x05 x 80 P3 P 3 | 10 | 80| 3 M3 x0.5 x100 3C6 | aC | 6 | 10 | 100 | 3 S
%g BU  EyF 28 BAME| BF | BE | IR | 28 | A FU  EyF 28 BAME| BF | BE | IR | 28 | 6 e~ e T g%
“17}| [ M26x0.35x 60 B4 B | 4 | 10 | 60 | 3 M2.6x0.35x 80 1C1_| 1C | 1 | 10 | 80 | 3 M3 x0.5 x 80 P5 P 5 | 10 | 80| 3 M3 x05 x100 3c8 | 3C | 8 | 10 | 100 | 3 o
57| [masx0.35x 60 BS B | 5 | 10 | 60 | 3 M2.6x0.35x 80 1C2 | 1C | 2 | 10 | 80 | 3 M3 x0.5 x 80 P6 P 6 | 10 | 80| 3 M3 x0.5 x100 3c® | 8C | © | 10 | 100 | 3 5%
% | M2.6x0.35x 60 B6 B | 6 | 10 | 60 | 3 M2.6x0.35x 80 1C3 | 1C | 3 | 10 | 80 | 3 M3 x05 x 80 P7 P 7 [ 10 | 80| 3 M3 x0.5 x100 3C10 | 3C | 10 | 10 | 100 | 3 =07
=) | m26x035x 60 B7 B | 7 | 10 | 60 | 3 M2.6x0.35x 80 1C4 | 1C | 4 | 10 | 80 | 3 M3 x0.5 x 80 P8 P 8 | 10 | 80 | 3 M3 x0.5 x100 P2 P 2 | 10 | 100 | 3 33
~ 7, | ma2sx035x 60 BB B | 8 | 10 | 60 | 3 M2.6x0.35x 80 165 | 1C | 5 | 10 | 80 | 3 M3 x05 x 80 P9 P e | 10 | 80| 3 M3 x0.5 x100 P3 P 3 | 10 [ 100 | 3 0x
i | m2sex035x 60 BS B | 9 | 10 | 60 | 3 M2.6x0.35x 80 1C6 | 1C | 6 | 10 | 80 | 3 M3 x05 x 80 P10 | P | 10 | 10 | 80 | 3 M3 x0.5 x100 P4 P 4 | 10 [ 100 | 3 L
<! [ M26x035x 60 3C1 | 3C | 1 | 10 | 60 | 3 M2.6x0.35x 80 1C7 | 1C | 7 | 10 | 80 | 3 M3 x0.35x 80 1C2 | 1C | 2 | 10 | 80 | 3 M3 x0.5 x100 P5 P 5 | 10 | 100 | 3 &)
M2.6x0.35x 60 3C2 | aC | 2 | 10 | 60 | 3 M2.6x0.35x 80 1C8 | 1C | 8 | 10 | 80 | 3 M3 x0.35x 80 1C3 | 1C | 3 | 10 | 80 | 3 M3 x0.5 x100 P& P 6 | 10 | 100 | 3
gy | M26x0.35x 60 363 | 30 | 3 | 10 | 60 | 3 M2.6x0.35x 80 1C9 | 1C | 9 | 10 | 80 | 3 M3 x0.35x 80 1C4 | 1C | 4 | 10 | 80 | 3 M3 x0.5 x100 P7 P 7 | 10 | 100 | 3 R
S M2.6x0.35x 60 3C4 | 3C | 4 | 10 | 60 | 3 M2.6x0.35x 80 Bl B 1 | 10 | 80 | 3 M3 x0.35x 80 1C5 | 1C | 5 | 10 | 80 | 3 M3 x0.5 x100 P8 P 8 | 10 | 100 | 3 -
5F1 [wmeexossxeo acs [ ac | 5 | 10 [ 60 | s M2.6x0.35x 80 B2 B 2 | 10 | 80 | 3 M3 x0.35x 80 1C6 | 1C | 6 | 10 | 80 | 8 M3 x0.5 x100 P9 P e [ 10 [ 100 | 3 FIE
@ | Maex035x 60 ace | ac | 6 | 10 | 60 | 3 M2.6x0.35x 80 B3 B 3 | 10 | 80 | 3 M3 x0.35x 80 1C7 | 1C | 7 | 10 | 80 | 3 M3 x05 x100 P10 | P | 10 | 10 | 100 | 3 53
off |M26x035x 60 3c7 | 3C | 7 | 10 | 60 | 3 M2.6x0.35x 80 B4 B 4 | 10 | 80 | 3 M3 x0.35x 80 1C8 | 1C | 8 | 10 | 80 | 3 M3 x0.35x100 1C2 | 1C | 2 | 10 | 100 | 3 £z
©SF |Mme6x035x 60 3c8 | 3c | 8 | 10 | 60 | 3 M2.6x0.35x 80 B5 B 5 | 10 | 80 | 3 M3 x0.35x 80 1C9 | 1C | 9 | 10 | 80 | 3 M3 x0.35x100 1C3 | 1C | & | 10 | 100 | 3 BB
Sz |M26x0.35x 60 309 | ac | 9 | 10 | 60 | 3 M2.6x0.35x 80 B6 B 6 | 10 | 80 | 3 M3 x0.35x 80 1C10| 1C | 10 | 10 | 80 | 3 M3 x0.35x100 1C4 | 1C | 4 | 10 | 100 | 3 xo
- M2.6x0.35x 60 P1 P | 1 [ 10 | 60 | 3 M2.6x0.35x 80 B7 B 7 | 10 | 80 | 3 M3 x0.35x 80 B2 B 2 | 10 | 80| 3 M3 x0.35x100 1C5 | 1C | 5 | 10 | 100 | 3 2
= M2.6x0.35x 60 P2 P | 2 | 10 | 60 | 3 M2.6x0.35x 80 B8 B 8 | 10 | 80 | 3 M3 x0.35x 80 B3 B 3 |10 | 80| s M3 x0.35x100 1C6 | 1C | 6 | 10 | 100 | 8 =
e M2.6x0.35x 60 P3 P | 8 | 10 | 60 | 3 M2.6x0.35x 80 B9 B o | 10 | 80 | 3 M3 x0.35x 80 B4 B 4 | 10 | 80| 3 M3 x0.35x100 17 | 1C | 7 | 10 | 100 | 3 =
S M2.6x0.35x 60 P4 P | 4 | 10 | 60 | 3 M2.6x0.35x 80 3C1 | aC | 1 | 10 | 80 | 3 M3 x0.35x 80 B5 B 5 | 10 | 80| 3 M3 x0.35x100 1C8 | 1C | 8 | 10 | 100 | 3 S
_ | m2ex035x 60 P5 P | 5 | 10 | 60 | 3 M2.6x0.35x 80 3c2 | aC | 2 | 10 | 80 | 3 M3 x0.35x 80 B6 B 6 | 10 | 80| 3 M3 x0.35x100 1C9 | 1C | © | 10 | 100 | 3 _
| 7 [ ma26x0.35x 60 P6 P | 6 | 10 | 60 | 3 M2.6x0.35x 80 3C3 | 8C | 3 | 10 | 80 | 3 M3 x0.35x 80 B7 B 7 [ 10 | 80| 3 M3 x0.35x100 1C10| 1C | 10 | 10 | 100 | 3 = |
T3 |m26x035x 60 P7 P | 7 [ 10 | 60 | 3 M2.6x0.35x 80 3C4 | aC | 4 | 10 | 80 | 3 M3 x0.35x 80 B8 B 8 | 10 | 80| 3 M3 x0.35x100 B2 B 2 | 10 [ 100 | 3 =T
¥m | m2ex035x 60 P8 P | 8 | 10 | 60 | 3 M2.6x0.35x 80 3C5 | 3C | 5 | 10 | 80 | 3 M3 x0.35x 80 B9 B e | 10 | 80| 3 M3 x0.35x100 B3 B 3 | 10 | 100 | 3 e
75 | ma2ex035x 60 P9 P | 9 | 10 | 60 | 3 M2.6x0.35x 80 3C6 | 8C | 6 | 10 | 80 | 3 M3 x0.35x 80 B10 | B | 10 | 10 | 80 | 3 M3 x0.35x100 B4 B 4 | 10 | 100 | 3 57
L M2.6x0.45x 80 1C1 | 1C | 1 | 10 | 80 | 3 M2.6x0.35x 80 3C7 | 8C | 7 | 10 | 80 | 3 M3 x0.35x 80 3c2 | 3C | 2 | 10 | 80 | 3 M3 x0.35x100 B5 B 5 | 10 | 100 | 3 L
e M2.6x0.45x 80 1C2 | 1C | 2 | 10 | 80 | 3 M2.6x0.35x 80 3C8 | aC | 8 | 10 | 80 | 3 M3 x0.35x 80 3c3 | 8C | 3 | 10 | 80 | 3 M3 x0.35x100 B6 B 6 | 10 | 100 | 3 b
b M2.6x0.45x 80 1C3 | 1C | 3 | 10 | 80 | 3 M2.6x0.35x 80 3C9 | 8C | 9 | 10 | 80 | 3 M3 x0.35x 80 3C4 | 3C | 4 | 10 | 80 | 3 M3 x0.35x100 B7 B 7 | 10 | 100 | 3 b
T M2.6x0.45x 80 1C4 | 1C | 4 | 10 | 80 | 3 M2.6x0.35x 80 P1 P 1 [ 10 | 80 | 3 M3 x0.35x 80 3C5 | 8C | 5 | 10 | 80 | 3 M3 x0.35x100 B8 B 8 | 10 [ 100 | 3 T
M2.6x0.45x 80 1C5 | 1C | 5 | 10 | 80 | 3 M2.6x0.35x 80 P2 P 2 | 10 | 80 | 3 M3 x0.35x 80 3C6 | 3C | 6 | 10 | 80 | 3 M3 x0.35x100 B9 B 9 | 10 | 100 | 3
M2.6x0.45x 80 1C6 | 1C | 6 | 10 | 80 | 3 M2.6x0.35x 80 P3 P 3 | 10 | 80 | 3 M3 x0.35x 80 3C7 | 3C | 7 | 10 | 80 | 3 M3 x0.35x100 B10 | B | 10 | 10 | 100 | 3
M2.6x0.45x 80 1C7 | 1C | 7 | 10 | 80 | 3 M2.6x0.35x 80 P4 P 4 | 10 | 80 | 3 M3 x0.35x 80 3c8 | 3C | 8 | 10 | 80 | 3 M3 x0.35x100 3c2 | 3C | 2 | 10 | 100 | 3
M2.6x0.45x 80 1C8 | 1C | 8 | 10 | 80 | 3 M2.6x0.35x 80 P5 P 5 | 10 | 80 | 3 M3 x0.35x 80 3c9 | 3C | 9 | 10 | 80 | 3 M3 x0.35x100 3C3 | 3C | & | 10 | 100 | 3
M2.6x0.45x 80 1C9 | 1C | 9 | 10 | 80 | 3 M2.6x0.35x 80 P6 P 6 | 10 | 80 | 3 M3 x0.35x 80 3C10| 3C | 10 | 10 | 80 | 3 M3 x0.35x100 3C4 | 3C | 4 | 10 | 100 | 3
M2.6x0.45x 80 B1 B | 1 | 10 | 80 | 3 M2.6x0.35x 80 P7 P 7 | 10 | 80 | 3 M3 x0.35x 80 P2 P 2 | 10 | 80| 3 M3 x0.35x100 3C5 | 8C | 5 | 10 | 100 | 8
M2.6x0.45x 80 B2 B | 2 | 10 | 80 | 3 M2.6x0.35x 80 P8 P 8 | 10 | 80 | 3 M3 x0.35x 80 P3 P 3 | 10 | 80| 3 M3 x0.35x100 3C6 | 3C | 6 | 10 | 100 | 3
M2.6x0.45x 80 B3 B | 8 | 10 | 80 | 3 M2.6x0.35x 80 P9 P e | 10 | 80 | 3 M3 x0.35x 80 P4 P 4 | 10 | 80| 3 M3 x0.35x100 3C7 | 8C | 7 | 10 | 100 | 3
M2.6x0.45x 80 B4 B | 4 | 10 | 80 | 3 M3 x05 x 80 1c2 | 1C | 2 | 10 | 80 | 3 M3 x0.35x 80 P5 P 5 | 10 | 80| 3 M3 x0.35x100 3C8 | 3C | 8 | 10 | 100 | 3
M2.6x0.45x 80 B5 B | 5 | 10 | 80 | 3 M3 x05 x 80 163 | 1C | 3 | 10 | 80 | 8 M3 x0.35x 80 P6 P 6 | 10 | 80| 3 M3 x0.35x100 3c® | 3C | © | 10 | 100 | 3
M2.6x0.45x 80 B6 B | 6 | 10 | 80 | 3 M3 x05 x 80 1C4 | 1C | 4 | 10 | 80 | 3 M3 x0.35x 80 P7 P 7 [ 10 | 80| 3 M3 x0.35x100 3C10 | 3C | 10 | 10 | 100 | 3
M2.6x0.45x 80 B7 B | 7 | 10 | 80 | 3 M3 x05 x 80 165 | 1C | 5 | 10 | 80 | 3 M3 x0.35x 80 P8 P 8 | 10 | 80| 3 M3 x0.35x100 P2 P 2 [ 10 [ 100 | 3
M2.6x0.45x 80 B8 B | 8 | 10 | 80 | 3 M3 x05 x 80 1C6 | 1C | 6 | 10 | 80 | 3 M3 x0.35x 80 P9 P e | 10 | 80| 3 M3 x0.35x100 P3 P 3 | 10 | 100 | 3
M2.6x0.45x 80 B9 B | 9 | 10 | 80 | 3 M3 x05 x 80 1C7 | 1C | 7 | 10 | 80 | 3 M3 x0.35x 80 P10 | P | 10 | 10 | 80 | 3 M3 x0.35x100 P4 P 4 | 10 | 100 | 3
M2.6x0.45x 80 3C1 | aC | 1 | 10 | 80 | 3 M3 x05 x 80 1C8 | 1C | 8 | 10 | 80 | 3 M3 x05 x100 1C2 | 1C | 2 | 10 | 100 | 3 M3 x0.35x100 P5 P 5 | 10 | 100 | 3
M2.6x0.45x 80 3C2 | 3C | 2 | 10 | 80 | 3 M3 x05 x 80 1C8 | i1c | 9 | 10 | 80 | 3 M3 x0.5 x100 1€3 | 1C | 3 | 10 | 100 | 3 M3 x0.35x100 P6 P 6 | 10 | 100 | 3
M2.6x0.45x 80 3C3 | aC | 3 | 10 | 80 | 3 M3 x0.5 x 80 1C10| 1C | 10 | 10 | 80 | 3 M3 x05 x100 1C4 | 1C | 4 | 10 | 100 | 3 M3 x0.35x100 P7 P 7 | 10 | 100 | 3
M2.6x0.45x 80 3C4 | aC | 4 | 10 | 80 | 3 M3 x0.5 x 80 B2 B 2 | 10 | 80 | 3 M3 x0.5 x100 165 | 1C | 5 | 10 | 100 | 8 M3 x0.35x100 P8 P 8 | 10 [ 100 | 3
M2.6x0.45x 80 3C5 | 3C | 5 | 10 | 80 | 3 M3 x0.5 x 80 B3 B 3 | 10 | 80 | 3 M3 x0.5 x100 1C6 | 1C | 6 | 10 | 100 | 3 M3 x0.35x100 P9 P 9 | 10 | 100 | 3
M2.6x0.45x 80 3C6 | 8C | 6 | 10 | 80 | 3 M3 x0.5 x 80 B4 B 4 | 10 | 80 | 3 M3 x05 x100 1C7 | 1C | 7 | 10 | 100 | 3 M3 x0.35x100 P10 | P | 10 | 10 | 100 | 3
M2.6x0.45x 80 3C7 | aC | 7 | 10 | 80 | 3 M3 x0.5 x 80 B5S B 5 | 10 | 80 | 3 M3 x0.5 x100 1C8 | 1C | 8 | 10 | 100 | 3 M3 x0.5 x150 1C2 | 1C | 2 | 10 | 150 | 3
M2.6x0.45x 80 3C8 | 3C | 8 | 10 | 80 | 3 M3 x0.5 x 80 B6 B 6 | 10 | 80 | 3 M3 x0.5 x100 1€ | 1C | 9 | 10 | 100 | 3 M3 x0.5 x150 1€3 | 1C | 3 | 10 | 150 | 3
M2.6x0.45x 80 3C9 | aC | 9 | 10 | 80 | 3 M3 x05 x 80 B7 B 7 | 10 | 80 | 3 M3 x0.5 x100 1C10| 1C | 10 | 10 | 100 | 3 M3 x05 x150 1C4 | 1C | 4 | 10 | 150 | 3
M2.6x0.45x 80 P1 P | 1 [ 10 [ 80 | 3 M3 x0.5 x 80 B8 B 8 | 10 | 80 | 3 M3 x0.5 x100 B2 B 2 | 10 [ 100 | 3 M3 x0.5 x150 165 | 1C | 5 | 10 | 150 | 3
M2.6x0.45x 80 P2 P [ 2 | 10 | 80 | 3 M3 x0.5 x 80 B9 B e | 10 | 80 | 3 M3 x0.5 x100 B3 B 3 | 10 | 100 | 3 M3 x0.5 x150 1C6 | 1C | 6 | 10 | 150 | 3
M2.6x0.45x 80 P3 P | 8 | 10 | 80 | 3 M3 x05 x 80 B10 | B | 10 | 10 | 80 | 3 M3 x0.5 x100 B4 B 4 | 10 [100 | 3 M3 x05 x150 1C7 | 1C | 7 | 10 | 150 | 3
M2.6x0.45x 80 P4 P | 4 | 10 | 80 | 3 M3 x05 x 80 3c2 | aCc | 2 | 10 | 80 | 3 M3 x0.5 x100 BS B 5 | 10 [ 100 | 3 M3 x0.5 x150 1C8 | 1C | 8 | 10 | 150 | 3
M2.6x0.45x 80 P5 P | 5 | 10 | 80 | 3 M3 x05 x 80 3c3 | 3C | 3 | 10 | 80 | 3 M3 x0.5 x100 B6 B 6 | 10 | 100 | 3 M3 x0.5 x150 1€ | 1C | © | 10 | 150 | 3
M2.6x0.45x 80 P6 P | 6 | 10 | 80 | 3 M3 x05 x 80 3C4 | 3C | 4 | 10 | 80 | 3 M3 x0.5 x100 B7 B 7 | 10 [ 100 | 3 M3 x05 x150 1C10| 1C | 10 | 10 | 150 | 3
M2.6x0.45x 80 P7 P | 7 [ 10 | 80 | 3 M3 x05 x 80 365 | aCc | 5 | 10 | 80 | 3 M3 x0.5 x100 B8 B 8 | 10 [ 100 | 3 M3 x0.5 x150 B2 B 2 [ 10 | 150 | 3
M2.6x0.45x 80 P8 P | 8 [ 10 | 80 | 3 M3 x05 x 80 366 | 3C | 6 | 10 | 80 | 3 M3 x0.5 x100 B9 B 9 | 10 [100 [ 3 M3 x0.5 x150 B3 B 3 [ 10 [ 150 | 3
M2.6x0.45x 80 P9 P | o | 10| 80 | 3 M3 x05 x 80 367 | ac | 7 | 10 | 80 | 3 M3 x05 x100 B10 | B | 10 | 10 | 100 | 3 M3 x0.5 x150 B4 B 4 | 10 | 150 | 3




ITY L YB-T IT TAFLET-T ITY L YB-T it TAFLET-T

#E:HSSE FHEYUE :TiCN #8:HSSE REME:TICN

Tap material Surface treatment Tap material Surface treatment

7Ly bOBEES OBMEMUE
o~
IT-TE-T OVY — af
EE% Ill& 5 102
oy _1c | 2l
m——| 2 B | 2w & FU  EyF 2R BOME| Bf | BE | IR | 2B | W8 FU  EyF 2R BOME| BF | BE | IR | 2B | W8
3c | 3w A M3 x05 x100 3c4 | ac | 4 | 10 | 100 | 4 M3 x0.35x150 B4 B | 4 | 10 | 150 | 4
P | 4w 2 M3 x0.5 x100 365 | ac | 5 | 10 | 100 | 4 M3 x0.35x150 B5 B | 5 | 10 | 150 | 4
oB% e M3 x0.5 x100 366 | aC | 6 | 10 | 100 | 4 M3 x0.35x150 B6 B | 6 | 10 | 150 | 4 BX 3
2+ e M3 x05 x100 3C7 | 3C | 7 | 10 | 100 | 4 M3 x0.35x150 B7 B | 7 | 10 | 150 | 4 £2
=7 N e o | - ] o | . M3 x0.5 x100 38 | 3C | 8 | 10 | 100 | 4 M3 x0.35x150 B8 B | 8 | 10 | 150 | 4 S
%g BU  EyF 28 BAME| BF | BE | IR | 28 | A FU  EyF 28 BAME| BF | BE | IR | 28 | 6 <05 <100 900 a5 oo 2 T e e T e g%
“15}| [M3 x05 x150 BS5 B 5 | 10 | 150 | 3 M3 x05 x 80 1C4 | 1C | 4 | 10 | 80 | 4 M3 x0.5 x100 P4 P | 4 | 10 | 100 | 4 M3 x0.35x150 3C4 | 3C | 4 | 10 | 150 | 4 i
=57 [Mma x05 x150 B6 B 6 | 10 | 150 | 3 M3 x05 x 80 165 | 1C | 5 | 10 | 80 | 4 M3 x0.5 x100 P5 P | 5 | 10 | 100 | 4 M3 x0.35x150 3C5 | 3C | 5 | 10 | 150 | 4 ¥
G4 | M3 x05 x150 B7 B 7 | 10 | 150 | 3 M3 x05 x 80 1C6 | 1C | 6 | 10 | 80 | 4 M3 x0.5 x100 P6 P | 6 | 10 | 100 | 4 M3 x0.35x150 3C6 | 3C | 6 | 10 | 150 | 4 20
=/ | M3 x05 x150 BB B 8 | 10 | 150 | 3 M3 x05 x 80 1G7 | 1C | 7 | 10 | 80 | 4 M3 x0.5 x100 P7 P | 7 [ 10 [ 100 | a4 M3 x0.35x150 3C7 | 3C | 7 | 10 | 150 | 4 g3
— 7, | M3 xo5 x150 BO B 9 | 10 | 150 | 3 M3 x05 x 80 168 | 1C | 8 | 10 | 80 | 4 M3 x0.5 x100 P8 P | 8 [ 10 [ 100 | 4 M3 x0.35x150 3C8 | 3C | 8 | 10 | 150 | 4 03
i | M3 xos x1s0 B10 [ B [ 10 [10 [1s0 | 3 M3 x0.5 x 80 168 | 1C | 9 | 10 | 80 | 4 M3 x0.5 x100 P9 P | o [ 10 [ 100 a4 M3 x0.35x150 3C9 | 3C | 9 | 10 | 150 | 4 2
' M3 x05 x150 3c2 | 3C | 2 | 10 | 150 | 3 M3 x05 x 80 B4 B | 4 | 10| 80| 4 M3 x0.35x100 1C4 | 1C | 4 | 10 | 100 | 4 M3 x0.35x150 P4 P | 4 | 10 | 150 | 4 e
M3 x0.5 x150 3c3 | aC | 3 | 10 | 150 | 3 M3 x0.5 x 80 B5 B | 5 | 10| 80| 4 M3 x0.35x100 1C5 | 1c | 5 | 10 | 100 | 4 M3 x0.35x150 P5 P | 5 | 10 | 150 | 4
ogs | M3 x05 x150 3C4 | 36 | 4 | 10 [ 150 | 3 M3 x0.5 x 80 B6 B | 6 | 10 | 80| 4 M3 x0.35x100 1C6 | 1C | 6 | 10 | 100 | 4 M3 x0.35x150 P6 P | 6 | 10 | 150 | 4 R
S M3 x0.5 x150 305 | 8C | 5 | 10 | 150 | 3 M3 x05 x 80 B7 B | 7 | 10| 80| 4 M3 x0.35x100 1C7 | 1C | 7 | 10 | 100 | 4 M3 x0.35x150 P7 P | 7 | 10 | 150 | 4 =
5F3 [ms x05 x180 ace | ac | 6 | 10 [ 150 | s M3 x0.5 x 80 B8 B | 8 | 10| 80| 4 M3 x0.35x100 1C8 | 1C | 8 | 10 | 100 | 4 M3 x0.35x150 P8 P | 8 | 10 | 150 | 4 FIE
@off |[Ma x05 x150 ac7 | ac | 7 | 10 | 150 | 3 M3 x0.5 x 80 B9 B | 9 | 10 | 80| 4 M3 x0.35x100 1C8 | 1C | 9 | 10 | 100 | 4 M3 x0.35x150 P9 P | o [ 10 | 150 | 4 53
off |[M3 x05 x150 3c8 | 3C | 8 | 10 | 150 | 3 M3 x05 x 80 3C4 | 3C | 4 | 10 | 80 | 4 M3 x0.35x100 B4 B | 4 | 10 | 100 | 4 M4 x07 x 80 1C6 | 1C | 6 | 10 | 80 | 5 £z
SE | ™3 x05 x150 3ce | 3c | 9 | 10 | 150 | 3 M3 x05 x 80 365 | aC | 5 | 10 | 80 | 4 M3 x0.35x100 B5 B | 5 | 10 | 100 | 4 M4 x07 x 80 1C7 | 1C | 7 | 10 | 80 | 5 ES
Sz | M3 x05 x150 3C10| 3C | 10 | 10 | 150 | 3 M3 x0.5 x 80 3C6 | 3C | 6 | 10 | 80 | 4 M3 x0.35x100 B6 B | 6 | 10 | 100 | 4 M4 x07 x 80 1C8 | 1C | 8 | 10 | 80 | 5 xo
- M3 x0.5 x150 P2 P 2 | 10 | 150 | 3 M3 x05 x 80 367 | 8 | 7 | 10 | 80 | 4 M3 x0.35x100 B7 B | 7 | 10 [ 100 | 4 M4 x0.7 x 80 B B | 6 | 10 | 80 | 5 2
= M3 x0.5 x150 P3 P 3 | 10 | 150 | 3 M3 x05 x 80 38 | aC | 8 | 10 | 80 | 4 M3 x0.35x100 B8 B | 8 | 10 | 100 | 4 M4 x0.7 x 80 BY B | 7 | 10 | 80 | 5 =
e M3 x0.5 x150 P4 P 4 | 10 | 150 | 3 M3 x0.5 x 80 369 | 3C | 9 | 10 | 80 | 4 M3 x0.35x100 B9 B | © | 10 | 100 | 4 M4 x0.7 x 80 B8 B | 8 | 10 | 80 | 5 =
S M3 x0.5 x150 P5 P 5 | 10 | 150 | 3 M3 x05 x 80 P4 P | 4 | 10| 80| 4 M3 x0.35x100 3C4 | 3C | 4 | 10 | 100 | 4 M4 x0.7 x 80 P6 P | 6 | 10 | 80 | 5 S
_ | ma xo5 x150 P6 P 6 | 10 | 150 | 3 M3 x0.5 x 80 P5 P | 5 [ 10| 80| 4 M3 x0.35x100 3c5 | ac | 5 | 10 | 100 | 4 M4 x0.7 x 80 P7 P | 7 | 10 | 80 | 5 _
| = [ma xo5 x150 P7 P 7 | 10 | 150 | 3 M3 x05 x 80 P6 P | 6 | 10| 80| 4 M3 x0.35x100 3C6 | 3C | 6 | 10 | 100 | 4 M4 x0.7 x 80 P8 P | 8 | 10 | 80 | 5 = |
Tz | ™3 x05 x150 P8 P 8 | 10 | 150 | 3 M3 x05 x 80 P7 P | 7 [ 10| so| 4 M3 x0.35x100 3C7 | 3C | 7 | 10 | 100 | 4 M4 x0.7 x100 1C6 | 1C | 6 | 10 | 100 | 5 =T
¥m | M3 x05 x150 P P 9 | 10 [ 150 | 3 M3 x0.5 x 80 P8 P | 8 | 10 | 80| 4 M3 x0.35x100 3C8 | 3C | 8 | 10 | 100 | 4 M4 x0.7 x100 1C7 | 1C | 7 | 10 | 100 | 5 e
74 |[mMa x05 x150 P10 | P | 10 | 10 | 150 | 3 M3 x0.5 x 80 P9 P | 9 | 10| 80| 4 M3 x0.35x100 3C9 | 3C | 9 | 10 | 100 | 4 M4 x0.7 x100 1C8 | 1C | 8 | 10 | 100 | 5 57
L M3 x0.35x150 1C2 | 1C | 2 | 10 | 150 | 3 M3 x0.35x 80 1C4 | 1C | 4 | 10 | 80 | 4 M3 x0.35x100 P4 P | 4 | 10 | 100 | 4 M4 x0.7 x100 B6 B | 6 | 10 [ 100 | 5 %
e M3 x0.35x150 1€3 | 1C | 3 | 10 | 150 | 3 M3 x0.35x 80 165 | 1C | 5 | 10 | 80 | 4 M3 x0.35x100 P5 P | 5 | 10 | 100 | 4 M4 x0.7 x100 B7 B | 7 | 10 [ 100 | 5 b
b M3 x0.35x150 1C4 | 1C | 4 | 10 | 150 | 3 M3 x0.35x 80 1C6 | 1C | 6 | 10 | 80 | 4 M3 x0.35x100 P6 P | 6 | 10 | 100 | 4 M4 x0.7 x100 B8 B | 8 | 10 | 100 | 5 b
T M3 x0.35x150 165 | 1C | 5 | 10 | 150 | 3 M3 x0.35x 80 1G7 | 1C | 7 | 10 | 80 | 4 M3 x0.35x100 P7 P | 7 [ 10 [ 100 | 4 M4 x0.7 x100 P& P | 6 [ 10 [ 100 5 T
M3 x0.35x150 1C6 | 1C | 6 | 10 | 150 | 3 M3 x0.35x 80 1C8 | 1C | 8 | 10 | 80 | 4 M3 x0.35x100 P8 P | 8 | 10 [ 100 4 M4 x0.7 x100 P7 P | 7 | 10 | 100 [ 5
M3 x0.35x150 1C7 | 1C | 7 | 10 | 150 | 3 M3 x0.35x 80 1C9 | 1C | 9 | 10 | 80 | 4 M3 x0.35x100 P9 P | o [ 10 | 100 | 4 M4 x0.7 x100 P8 P | 8 | 10 [ 100 5
M3 x0.35x150 1C8 | 1C | 8 | 10 | 150 | 3 M3 x0.35x 80 B4 B | 4 | 10| 80| 4 M3 x05 x150 1C4 | 1C | 4 | 10 | 150 | 4 M4 x0.7 x150 1C6 | 1C | 6 | 10 | 150 | 5
M3 x0.35x150 1€9 | 1C | 9 | 10 | 150 | 3 M3 x0.35x 80 B5 B | 5 | 10| 80| 4 M3 x0.5 x150 165 | 1Cc | 5 | 10 | 150 | 4 M4 x0.7 x150 1C7 | 1C | 7 | 10 | 150 | &
M3 x0.35x150 1C10| 1C | 10 | 10 | 150 | 3 M3 x0.35x 80 B6 B | 6 | 10 | 80| 4 M3 x0.5 x150 1C6 | 1C | 6 | 10 | 150 | 4 M4 x0.7 x150 1C8 | 1C | 8 | 10 | 150 | 5
M3 x0.35x150 B2 B 2 | 10 | 150 | 3 M3 x0.35x 80 B7 B | 7 | 10| so| 4 M3 x05 x150 17 | 1C | 7 | 10 | 150 | 4 M4 x0.7 x150 B6 B | 6 | 10 | 150 | 5
M3 x0.35x150 B3 B 3 | 10 | 150 | 3 M3 x0.35x 80 B8 B | 8 | 10 | 80| 4 M3 x0.5 x150 1C8 | 1C | 8 | 10 | 150 | 4 M4 x0.7 x150 B7 B | 7 | 10 | 180 | 5
M3 x0.35x150 B4 B 4 | 10 [ 150 | 3 M3 x0.35x 80 B9 B | 9 | 10| 80| 4 M3 x05 x150 1C9 | 1C | 9 | 10 | 150 | 4 M4 x0.7 x150 B8 B | 8 | 10 | 150 | 5
M3 x0.35x150 B5 B 5 | 10 | 150 | 3 M3 x0.35x 80 3C4 | 3C | 4 | 10 | 80 | 4 M3 x0.5 x150 B4 B | 4 | 10 | 150 | 4 M4 x0.7 x150 P& P | 6 | 10 | 150 | 5
M3 x0.35x150 B6 B 6 | 10 | 150 | 3 M3 x0.35x 80 3C5 | 3C | 5 | 10 | 80 | 4 M3 x0.5 x150 B5 B | 5 | 10 | 150 | 4 M4 x0.7 x150 P7 P | 7 | 10 | 180 | 5
M3 x0.35x150 B7 B 7 | 10 | 150 | 3 M3 x0.35x 80 3C6 | 3C | 6 | 10 | 80 | 4 M3 x0.5 x150 B6 B | 6 | 10 | 150 | 4 M4 x0.7 x150 P8 P | 8 | 10 | 150 | 5
M3 x0.35x150 B8 B 8 | 10 | 150 | 3 M3 x0.35x 80 3C7 | 8 | 7 | 10 | 80 | 4 M3 x0.5 x150 B7 B | 7 | 10 | 150 | 4 M5 x0.8 x100 1C6 | 1C | 6 | 10 | 100 | 55
M3 x0.35x150 B9 B 9 | 10 [ 150 | 3 M3 x0.35x 80 3C8 | 3C | 8 | 10 | 80 | 4 M3 x0.5 x150 B8 B | 8 | 10 | 150 | 4 M5 x0.8 x100 1C7 | 1C | 7 | 10 | 100 | 55
M3 x0.35x150 B10 | B | 10 | 10 | 150 | 3 M3 x0.35x 80 3C9 | 8C | 9 | 10 | 80 | 4 M3 x0.5 x150 B9 B | © | 10 | 150 | 4 M5 x0.8 x100 1C8 | 1C_ | 8 | 10 | 100 | 55
M3 x0.35x150 3C2 | aC | 2 | 10 | 150 | 3 M3 x0.35x 80 P4 P | 4 | 10| 80| 4 M3 x0.5 x150 3c4 | 3C | 4 | 10 | 150 | 4 M5 x0.8 x100 B6 B | 6 | 10 | 100 | 655
M3 x0.35x150 3C3 | 8C | 3 | 10 | 150 | 3 M3 x0.35x 80 P5 P | 5 | 10 | 80| 4 M3 x0.5 x150 306 | aC | 5 | 10 | 150 | 4 M5 x0.8 x100 B7 B | 7 | 10 | 100 | 55
M3 x0.35x150 3C4 | 8C | 4 | 10 | 150 | 3 M3 x0.35x 80 P6 P | 6 | 10 | 80| 4 M3 x0.5 x150 3C6 | 3C | 6 | 10 | 150 | 4 M5 x0.8 x100 B8 B | 8 | 10 | 100 | 55
M3 x0.35x150 305 | aC | 5 | 10 | 150 | 3 M3 x0.35x 80 P7 P | 7 [ 10| so| 4 M3 x05 x150 37 | 3¢ | 7 | 10 | 150 | 4 M5 x0.8 x100 P& P | 6 | 10 | 100 | 65
M3 x0.35x150 3C6 | 8C | 6 | 10 | 150 | 3 M3 x0.35x 80 P8 P [ 8 | 10 | 80| 4 M3 x0.5 x150 38 | 3C | 8 | 10 | 150 | 4 M5 x0.8 x100 P7 P | 7 | 10 | 100 | 55
M3 x0.35x150 3C7 | 8C | 7 | 10 | 150 | 3 M3 x0.35x 80 P9 P | o9 [ 10| 80| 4 M3 x05 x150 3C9 | 3C | 9 | 10 | 150 | 4 M5 x0.8 x100 P8 P | 8 | 10 | 100 | 55
M3 x0.35x150 3C8 | aC | 8 | 10 | 150 | 3 M3 x0.5 x100 1C4 | 1C | 4 | 10 | 100 | 4 M3 x0.5 x150 P4 P | 4 | 10 | 150 | 4 M5 x0.8 x150 1C6 | 1C | 6 | 10 | 150 | 55
M3 x0.35x150 3C9 | 8C | 9 | 10 | 150 | 3 M3 x0.5 x100 1C56 | 1C | 5 | 10 | 100 | 4 M3 x0.5 x150 P5 P | 5 | 10 | 150 | 4 M5 x0.8 x150 167 | 1C | 7 | 10 | 150 | 55
M3 x0.35x150 3C10 | 3C | 10 | 10 | 150 | 3 M3 x05 x100 1C6 | 1C | 6 | 10 | 100 | 4 M3 x0.5 x150 P6 P | 6 | 10 | 150 | 4 M5 x0.8 x150 168 | 1C | 8 | 10 | 150 | 55
M3 x0.35x150 P2 P 2 | 10 | 150 | 3 M3 x0.5 x100 167 | 1Cc | 7 | 10 | 100 | 4 M3 x0.5 x150 P7 P | 7 [ 10 [ 150 | & M5 x0.8 x150 B6 B | 6 | 10 | 150 | 65
M3 x0.35x150 P3 P 3 | 10 [ 150 | 3 M3 x0.5 x100 1C8 | 1C | 8 | 10 | 100 | 4 M3 x0.5 x150 P8 P | 8 [ 10 [ 150 | 4 M5 x0.8 x150 B7 B | 7 | 10 | 150 | 55
M3 x0.35x150 P4 P 4 | 10 [ 150 | 3 M3 x05 x100 1C9 | 1C | 9 | 10 | 100 | 4 M3 x0.5 x150 P9 P | o [ 10 | 150 | 4 M5 x0.8 x150 B8 B | 8 | 10 | 150 | 55
M3 x0.35x150 P5 P 5 | 10 | 150 | 3 M3 x0.5 x100 B4 B | 4 | 10 | 100 4 M3 x0.35x150 1C4 | 1C | 4 | 10 | 150 | 4 M5 x0.8 x150 P6 P | 6 | 10 | 150 | 55
M3 x0.35x150 P6 P 6 | 10 | 150 | 3 M3 x0.5 x100 B5 B | 5 | 10 | 100 | 4 M3 x0.35x150 1C5 | 1C | 5 | 10 | 150 | 4 M5 x0.8 x150 P7 P | 7 | 10 | 150 | 55
M3 x0.35x150 P7 P 7 | 10 | 150 | 3 M3 x0.5 x100 B6 B | 6 | 10 | 100 | 4 M3 x0.35x150 1C6 | 1C | 6 | 10 | 150 | 4 M5 x0.8 x150 P8 P | 8 | 10 | 150 | 55
M3 x0.35x150 P8 P 8 | 10 | 150 | 3 M3 x0.5 x100 B7 B | 7 [ 10 [100] 4 M3 x0.35x150 1C7 | 1C | 7 | 10 | 150 | 4 M6 x1_x100 167 | 1c | 7 | 10 | 100 | 6
M3 x0.35x150 P9 P 9 | 10 [ 150 | 3 M3 x0.5 x100 B8 B | 8 | 10 [ 100 4 M3 x0.35x150 168 | 1C | 8 | 10 | 150 | 4 M6 x1 x100 1c8 | 1c | 8 | 10 | 100 | 6
M3 x0.35x150 P10 | P | 10 | 10 | 150 | 3 M3 x0.5 x100 B9 B | 9 | 10 100 4 M3 x0.35x150 1C9 | 1C | 9 | 10 | 150 | 4 M6 x1 x100 1€ | 1c | 9 | 10 | 100 | 6




ITYLYIN-T i TAFLET-T

#E:HSSE FEYUE :TiCN

Tap material Surface treatment

7Ly hOBEES OBMERMIE

»
IT'TF'T DJ 7 BERLEY :fz
EE% Ill& E]gg
_._:‘:._ B Elll (um) 64
3C 3 :;
- _ P | b %
8% aﬁﬁﬁg
;lj' U  EvF 2R BHIRE| BfY EE IR 2R R U  EvF 2R BIRE| BfY EE BSESS 2R WE
36 M6 x1 X100 B7 B 7 10 100 6 M10 x1.5 x100 B7 B 7 19 100 7
%7 M6 x1 X100 B8 B 8 10 100 6 M10 x1.5 X100 B8 B 8 19 100 7
wn ~ M6 x1 X100 B9 B 9 10 100 [S] M10 x1.5 x100 B9 B 9 19 100 Z
qg M6 X1 X100 P7 P 7 10 100 6 M10 x1.5 X100 P7 P 7 19 100 7
% 7] M6 X1 X100 P8 P 8 10 100 6 M10 x1.5 x100 P8 2 8 19 100 7
= 3 M6 X1 X100 P9 P 9 10 100 6 M10 x1.5 x100 P9 P 9 19 100 7
gt M6 x1 X150 1C7 1C 74 10 150 6 M10 x1.5 X150 1C7 1C 7 19 150 7
M6 x1 X150 1C8 1C 8 10 150 6 M10 x1.5 x150 1C8 1C 8 19 150 7
3@ M6 X1 X150 1C9 1C 9 10 150 6 M10 x1.56 x150 1C9 1C 9 19 150 7
= M6 Xx1 X150 B7 B 7 10 150 6 M10 x1.5 x150 B7 B 7 19 150 7
EFE M6 x1 X150 B8 B 8 10 150 6 M10 x1.5 X150 B8 8 19 150 7
grré: M6 x1 X150 B9 B 9 10 150 6 M10 x1.56 x150 B9 B 9 19 150 i
w M6 x1 x150 P7 P 7 10 150 6 M10 x1.5 x150 P7 P 7 19 150 7
éé M6 x1 X150 P8 P 8 10 150 6 M10 x1.5 X150 P8 P 8 19 150 7
%§E M6 Xx1 X150 P9 P 9 10 150 [S] M10 x1.5 x150 P9 P 9 19 150 7
r_gn M8 x1.25x100 1C7 1C 7, 18 100 6.2 M10 x1.25%x100 1C7 1C 7 19 100 7
:T_u' M8 x1.25x100 1C8 1C 8 18 100 6.2 M10 x1.25%Xx100 1C8 1C 8 19 100 7
g M8 x1.25x100 1C9 1C 9 18 100 6.2 M10 x1.25%x100 1C9 1C 9 19 100 7
= M8 x1.25x100 B7 B 7 18 100 6.2 M10 x1.25x100 B7 B 7 19 100 7
_ M8 x1.25x100 B8 B 8 18 100 6.2 M10 x1.25%x100 B8 B 8 19 100 7
| j M8 x1.25x100 B9 B 9 18 100 6.2 M10 x1.25x100 B9 B 9 19 100 7
T % M8 x1.25x100 P7 P 7 18 100 6.2 M10 x1.25x100 P7 P 7 19 100 7
QE M8 x1.25x100 P8 P 8 18 100 6.2 M10 x1.25%x100 P8 P 8 19 100 7
7:‘. M8 x1.25x100 P9 P 9 18 100 6.2 M10 x1.25x100 P9 P 9 19 100 i
|./ M8 x1.25x150 1C7 1C 7 18 150 6.2 M10 x1.25%x150 1C7 1C 7 19 150 7
P4 M8 x1.25x150 1C8 1C 8 18 150 6.2 M10 x1.25x150 1C8 1C 8 19 150 7
I\ M8 x1.25x150 1C9 1C 9 18 150 6.2 M10 x1.25x150 1C9 1C 9 19 150 7
'Ir M8 x1.25x150 B7 B 7 18 150 6.2 M10 x1.25%x150 B7 B 7 19 150 7
M8 x1.25x150 B8 B 8 18 150 612 M10 x1.25x150 B8 B 8 19 150 7
M8 x1.25x150 B9 B 9 18 150 6.2 M10 x1.25x150 B9 B 9 19 150 7
M8 x1.25x150 P7 P 7z 18 150 6.2 M10 x1.25x150 P7 P 7 19 150 7
M8 x1.25x150 P8 P 8 18 150 6.2 M10 x1.25%x150 P8 P 8 19 150 7
M8 x1.25x150 P9 P 9 18 150 6.2 M10 x1.25x150 P9 P 9 19 150 7
M10 x1.5 X100 1C7 1C 7 1€ 100 7
M10 x1.5 X100 1C8 1C 8 19 100 7
M10 x1.5 X100 1C9 1C 9 19 100 7




	1
	2

